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Question Number : 1 Question Id : 753229607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

REMT, AMVB, JUEJ, SDNR, BKWZ
Options :

1. ¥ AMVB

2. % JUEJ

3. ¥ SDNR

4. * BKWZ



Question Number : 1 Question Id : 753229607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad S1aR-THg Y&l H TTeld U JTd Hifeie:

REMT, AMVB, JUEJ, SDNR, BKWZ
Options :

1. * AMVB

2. % JUEJ

3. ¥ SDNR

4. % BKWZ

Question Number : 2 Question Id : 753229608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

P16HI, ? , B2VW, H8CD, N14JK
Options :

1. ¥ V220P

2. % V22PO

3. % VI50P

4. % V8PO

Question Number : 2 Question Id : 753229608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad s1eR-THg SRael ¥ I Ug JTd SIfoid:

P16HI, ? , B2VW, H8CD, N14JK
Options :

1. ¥ V220P

2. % V22PO




3. ¥ V150P
4. % V8PO

Question Number : 3 Question Id : 753229609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives:

MIGRANT : LHFQZMS : : ? : FDKBV
Options :

1. # DSRGF

2. % GSRHE

3. * DSGEW

4. ¥ GELCW

Question Number : 3 Question Id : 753229609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fasbedl & § el si&RY &1 9g &e:
MIGRANT : LHFQZMS :: ? : FDKBV
Options :

1. % DSRGF

2. % GSRHE

3. ¥ DSGEW
4. ¥ GELCW

Question Number : 4 Question Id : 753229610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the odd word from the given alternatives.
Options :

1. % Hours



2. % Decibels
3. # Minutes
4. % Seconds

Question Number : 4 Question Id : 753229610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ru T el 4 @ v Tieg &) 71 50
Options :

1. % el

2. ¢ SHgd

3. % fiFe

4. % Jbs

Question Number : 5 Question Id : 753229611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, “STOCK?” is written as “NPLAJ”. How is “PRICE” written in that code language?
Options :

1. ¥ KNFAD

2. % OQHBD

3. ¥ NKDAF

4. % NPGAC

Question Number : 5 Question Id : 753229611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A3 B U &, “STOCK” BT He § “NPLAJ?| ST HTST & “PRICE” BT F T I
Options :

1. ¥ KNFAD

2. % OQHBD



3. #* NKDAF
4. *= NPGAC

Question Number : 6 Question Id : 753229612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman is 12th from the starting in a row. Raman is 24th from the end and there are 25 boys between Aman and Raman, then how many boys are
there in total?

Options :
1. ¥ 61
2. % 62
3. % 60
4. % 63

Question Number : 6 Question Id : 753229612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Ufgd H S RT F 1297 8| THA 3id T 24071 § 3R 3 3R T & TeH 25 ASH §, Al Hdl [ ASP &2
Options :

1. ¥ 61

2. % 62

3. % 60

4. % 63

Question Number : 7 Question Id : 753229613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five friends Aman, Chintu, Rahul, Gautam and Pintu are sitting in a row at different position. Aman is sitting at the left end while Pintu is sitting
second from the right end. Rahul is not an immediate neighbor of Aman and Gautam. Only one friend sits between Pintu and Gautam.

Who is sitting in the middle of the row?
Options :
1. ¥ Chintu



2. * Pintu
3. # Gautam
4, % Aman

Question Number : 7 Question Id : 753229613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
urg o e, fRig, g, Mad ok fig ue dfad #f fafte R R 98 81 | 3 a1 B8R IR 967 § 9 U 3l 3R I gER ™I IR 987
g | T8, 3 3R TdH &1 Hdean Teiil 781 g | fig ok iiad & o9 had Us WA da1 g

Ufad & & § B 98167
Options :

1. ¢ g

2. % fUg

3. % Tad

4. % AHHA

Question Number : 8 Question Id : 753229614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement

Statement:
All families are happy.
Some happy are healthy.

Conclusions:
(I) Some healthy are family.
(IT) No healthy are family.

Options :

1. # Only I follow

2. % Only II follows

3. % Either I or II follows



4. % Neither [ nor II follows

Question Number : 8 Question Id : 753229614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafied vy H & sy U U & foFe a1e &l sy 19 11 U U & 3MTUeh! 37 AT 1 I HIFHT &, Wl 81 4 gagmd a2l 9 e el
gid 811 fau U el O ¥ 31 91 e AT 71U o &7 difdhs &0 F S8R0 Rl 5 |

HY:

Tft aRaR G g

$S G W g

fsep:

() 6 W URAR g |

(I) BT W URIR a1 7

Options :

1. % $Had [T5HY [ 3ITRV Hal &
2. % Had (SHY 11 SR Hal §
3. ¢ g1l ey 1 a7 e 11 S0 Rl §
4. % T FpY 17 81 Fpy 11 SFERU HReT 8

Question Number : 9 Question Id : 753229615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

Some buses are cycle
Some cycle are car.
No car is scooter.

Conclusions:
(I) Some car are buses.
(IT) Some cars are cycle.



Options :

1. % Only I follow

2. % Only II follows

3. % Both I and II follow

4. # Neither I nor II follows

Question Number : 9 Question Id : 753229615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad gy & 9 oy e 7w 8 e a1e &) e 19 11 fRT U § 3iueh! 39 Y=l &) I A1 8, Hal 81 9 Fagnd awt 3 fue udia
gid 811 fou e fmef & § &1 a1 fepdf 3T 78 2= &1 difthes 0 I ORI HRaT ] |

HY:

FO I ARfhA gl
$6 Ifhd PR g
PIg HR WP el gl

BT

() S PRITRI

(I $B HR Tfra gl

Options :

1. % Had (sHY | 38R0 HRT §

2. ¢ Had BN 11 IR0 el §

3. % G (FIShY [ T 11 SFJR0T %l &

4. % 3 freend 177 8 Fspy 11 SraRu BT ®

Question Number : 10 Question Id : 753229616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by three conclusions numbered I, II and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
Some questions are answer.



All answers are wrong.
Some wrong are correct.

Conclusions:

(I) Some wrong are question.
(IT) Some correct are wrong.
(IIT) Some answer are wrong.

Options :

1. # Only I follow
2. % Only II follows
3. % Only III follows
4.+ All follows

Question Number : 10 Question Id : 753229616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & o U= AU MU g RS9 a1g i e 1,11 T 111 f3U U § 30! 3 S & I AT 8, Hal 81 3 JdeTd a9 g
gdid g 811 fou e fsersf & § o1 a1 feesdf 3T 78 2 &1 difthes 0 I S9R0 Rl ] |

hY:

TS UY SR B
gt SWITAd B |
EERINGREHE

e

() TS Tad 9% 5|
(1) TS Tg! Tad g |
(1) B IR I ¢ |
Options :

1. % Had FpY 1 SFIER0T Rl §
2. % Had BN 11 SR Hal §
3. % Had AhY 111 3FIERU &l §
4.« T} SFTERUI B §




Question Number : 11 Question Id : 753229617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

21:3::574:7
Options :
1. % 23
2. ¥ 82
3. % 97
4. % 113

Question Number : 11 Question Id : 753229617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

freferRad U # fau 7T fashedl # @ TeaiiRid A1 &1 90 B |
21:3::574:7

Options :

1. % 23

2.9 82

3. % 97

4. % 113

Question Number : 12 Question Id : 753229618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below, a statement is followed by two conclusions. Study the conclusions and select the correct option as the answer.

Statement
Y=M<N<B=D;M>Z;N<]

Conclusions.



.Z<]
I.D>J

Options :

1. % Only I follow

2. # Both I and II follow
3. % Either I or II follow
4. % Only II follow

Question Number : 12 Question Id : 753229618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T Uy A, HUT P MYR W &l Fsnd el 91d € | Feh &7 3188 Y 3R IR & TU H g faded &1 797 HI |

YT
Y=M<N<B=D;M>Z;N<]

fepy

.Z<]J
II.D>]J

Options :

1. ¢ Bad | TRV BT &

2. % | 3R G SR B &
3. % Il | 7 |l SFER0l Bl §
4. % HId || IR0 BT §

Question Number : 13 Question Id : 753229619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

72000, 36000, 12000, 3000, 600, ?
Options :
1. % 180



2. % 160
3. % 150
4.4 100

Question Number : 13 Question Id : 753229619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% oe ., fT T 4 @ L Ug b1 99 B

72000, 36000, 12000, 3000, 600, ?
Options :
1. % 180
2. % 160
3. % 150
4.4 100

Question Number : 14 Question Id : 753229620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents florist, circle represents moneyplant, pentagon represents lily, rectangle represents roses and square
represents sunflower.

What does letter ‘G’ represents?




Options :

1. ® Florist who grow sunflower, moneyplant and lily but not rose
2. ® Florist who grow sunflower, rose and lily but not moneyplant
3. # Florist who grow moneyplant, rose and lily but not sunflower

4. ¥ Florist who grow moneyplant, rose and sunflower but not lily

Question Number : 14 Question Id : 753229620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiad sma &, Ayst Al &1 ufaffiid ol 8, 39 3+ Wi &1 Ui @xdl g, Taeiu fere &1 ufafAfia SRl &, Siad o &
gfafAfia Har g iR a7 JRorgwt &1 ufafAfia axar g

&R <G fpgeT ufaffa 82

i

Options :

1. % TTCH ST YOI, AR 3R ferelt ST § difde e el |
2. % HTE ST QRO T 3R ferelt ST g Afde A-wie gl |
3. % Wil S J-wie, o 3R forel ST g dfe GRorg et |
4. T S Afette, TerTe 3R GROTRT ST § e ferett -1et

Mf/

Question Number : 15 Question Id : 753229621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following figure, triangle represents chef, circle represents cafe, pentagon represents assistant chef, rectangle represents restaurant and
square represents hotel.

What does letter ‘8’ represents?

Options :

1. ® Chef who run hotel but not restaurant and cafe with his assistant chef
2. % Chef who run cafe, hotel but not restaurant with his assistant chef

3. % Chef who run restaurant, hotel but not café with his assistant chef

4. % Chef who run restaurant, hotel and café alone

Question Number : 15 Question Id : 753229621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad sma &, Ay A% &1 ufafifeid =1 ], 99 H &1 Ui 1 8, Tadi0 Terid A% HI UfATd Sl g, Sad ]
&1 Ufaffir #ar § iR o7 giedt o1 ufafifia exar g1

&R <8’ fpget ufafifia g2




Options :

1. % QA SN 3T YT AW & 1Y §led Idld & A J&RT 3R Hb Toi Idld &
2. % QB Sl U YD AP & I Hib, gled IdTd § Al &R el

3. ¢ AW Sl (U TgTIPH A & T J&RT, BIed IAd & Afdbd b gl |

4. % P SN 3fhd JCRe, Bled 3R S Idld &

Question Number : 16 Question Id : 753229622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

| =)

Options :

1]




—
-_
]

dqar
I

NS

\e)

Question Number : 16 Question Id : 753229622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3T & g9 DX S FgfeiRad spfa @ § uy fag (7) &1 ufawifud s |

DIEE)| -

Options :



1]

=P\
=i,

20E
N4

Question Number : 17 Question Id : 753229623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one in which the question figure is hidden/embedded.



T

Options :
&
2. ®
&
A




Question Number : 17 Question Id : 753229623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu TQ faeent & 9, I MTPfa &1 99 B S0 Uy 3nepfa srafifea / fsdt g2

Options :

A
A
A

3.¢



A

Question Number : 18 Question Id : 753229624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4. %

From the given alternatives select the one which is the mirror image of given Question Figure .

@

Options :

=/ =

1. #®

L) &

2. %




Question Number : 18 Question Id : 753229624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U fadetl & 9, 39 SIH A &1 999 B Sl fal T Y 31dHid H1 U0l ufafara g |

2117111 =

Options :




3. %

4.9

Question Number : 19 Question Id : 753229625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of circle in the given figure.



Options :
1. % 13
2. %10
3.¥ 11
4. % 12

Question Number : 19 Question Id : 753229625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A Ml g ) e 1 IR

Options :
1. % 13
2. %10
3.¥ 11
4, % 12



Question Number : 20 Question Id : 753229626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.

4

?

Options :

W




Question Number : 20 Question Id : 753229626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U fa el T 9§ 39 fabed &1 T S UY 3HThid &l R HR|

4

?

Options :

W

N




3. %
N
4. &
General Awareness
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General Awareness
Section Id : 75322935
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 75322941
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 753229627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, 1s situated high aloft a hill called Neelachal Parbat or Kamagiri in the city of Guwahati.
Options :
1. # Lotus Temple
2. # Konark temple
3. ¥ Kamakhya Temple
4. % Lingaraja Temple

Question Number : 21 Question Id : 753229627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

| TATETe ¥R H drd udd a1 SRR A Ugel & W R g
Options :

1. % $HAd HR (dley <)

2. % PHIUMh HieR

3. ¢ HIHARAT HfR

4. % RS dfeR

Question Number : 22 Question Id : 753229628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pattachitra style of painting is one of the oldest and most popular art forms of
Options :

1. ¥ Mabharashtra



2. % Madhya Pradesh
3. ¥ QOdisha
4. # Chhattisgarh

Question Number : 22 Question Id : 753229628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T H TR el P I R SR IO A ST S0 A Y T g
Options :

1. ® HeRIY

2. % AL YSH

3. ¢ Joil

4. % BTG

Question Number : 23 Question Id : 753229629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a dance form owing its origin to Andhra Pradesh.
Options :
1. ¥ Kuchipudi
2. % Bharata Natyam
3. % Kathak
4. % Kathakali

Question Number : 23 Question Id : 753229629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH T ©U g ore! Saf sy IS A g3 ¢

Options :

1. ¥ Fegst

2. % A AIH



3, % HYD
4. % HYDA

Question Number : 24 Question Id : 753229630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, Hiuen Tsang, visited India during the reign of Harshavardhana.
Options :
1. # Russian traveller
2. # Francis traveller
3. % Portuguese traveller
4. ¥ Chinese traveller

Question Number : 24 Question Id : 753229630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3, gaeH 3 eI 3 SR HIRd ST AT
Options :

1. % =4t gl

2. % iRy gt

3. % QaTTen amt

4.« I el

Question Number : 25 Question Id : 753229631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Cabinet Mission sent to India?
Options :

1. # April 1946

2. % March 1946

3. % May 1946



4. % June 1946

Question Number : 25 Question Id : 753229631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hiare MR YR B Hol T[T 41?2
Options :

1. % 37 1946

2.« T 1946

3. % TS 1946

4. % T 1946

Question Number : 26 Question Id : 753229632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Khurram was the son of which of the following Mughal Emperor ?
Options :

1. ¥ Jahangir

2. % Aurangzeb

3. % Humayun

4. % Babar

Question Number : 26 Question Id : 753229632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ fFafefed § § g gre w5 &1 g U
Options :

1. ¢ SENIR

2. % RIS

3. % gy

4, % dldR



Question Number : 27 Question Id
Orientation : Vertical

: 753229633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Alfred Nobel is associated with which of the following country?

Options :

1. # Switzerland
2. % England

3. % Sweden

4. ® Denmark

Question Number : 27 Question Id
Orientation : Vertical

: 753229633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

3feibe e Fafafed 3 9 fod <=1 Jeifdd g

Options :

1. # f&geoRds
2. % 3idlS

3. ¢ Wied

4. % UG

Question Number : 28 Question Id
Orientation : Vertical

: 753229634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
'Mission Niryatak Bano' is related to which of the following states?

Options :

1. # Madhya Pradesh
2. ¥ Rajasthan

3. # Chhattisgarh

4, % Assam

Question Number : 28 Question Id

: 753229634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

forem fRafde s faferfaa 7 3 fg s | Jefia 82
Options :

1. % A U

2. ¢ SR

3. % BIANG

4. % 397

Question Number : 29 Question Id : 753229635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Abdul Hamid is the President of which of the following country?
Options :

1. % Traq

2. ® Iran

3. ¥ Afghanistan

4. ¥ Bangladesh

Question Number : 29 Question Id : 753229635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fegd gHie Fafafad & 9 fora 32 & pufa &
Options :

1. ® Rh

2. % M

3. % JHIIARAH

4. ¢ QI

Question Number : 30 Question Id : 753229636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Where is glycogen stored in the human body?
Options :

1. # Stomach

2. % Gall Bladder

3. % Liver

4. % Kidney

Question Number : 30 Question Id : 753229636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A4 TRR & TATSH IS Hgl o HT gIdll 87
Options :

1. % U¢

2. % fUI=M™

3. ¥ AR

4. % fhet

Question Number : 31 Question Id : 753229637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jelep La pass is located in which state ?
Options :

1. # Jammu & Kashmir

2. ¥ Sikkim

3. % Uttarakhand

4. ¥ Himachal Pradesh

Question Number : 31 Question Id : 753229637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ay @1 U fhg I § fRUd 82



Options :

1. % S0 3R HRUR
2. ¢ afesu

3. % IRES

4. % fgOTEd Uew

Question Number : 32 Question Id : 753229638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a rabi crop?
Options :

1. # Cotton

2. % Jowar

3. ¥ Wheat

4. % Chilly

Question Number : 32 Question Id : 753229638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PR & § PH-8 e G 2
Options :

1. % dU™g

2. % WdRR

3. ¥ T8

4. % fid

Question Number : 33 Question Id : 753229639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
No force acts on a current carrying conductor when it is placed
Options :



1. # far away from the magnetic field
2. # perpendicular to the magnetic field
3. ¢ parallel to the magnetic field

4. # inside a magnetic field

Question Number : 33 Question Id : 753229639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pt IR AAF BRI R PIS 9 A AT 8
Options :

1. % JaPIg @A Tgd R

2. % YgbIY & & Aaad

3. ¢ JaDIY &3 b GHMIR

4. % JIDIY & b AR

Question Number : 34 Question Id : 753229640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Nobel Prizes are not awarded for which of the following?
Options :

1. ¥ Arts

2. # Literature

3. % Peace

4. ¥ Physics

Question Number : 34 Question Id : 753229640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mo REHR Fafefad & @ fegs forg 7t fear smar @2

Options :
1. % hdll



2. % gIfgd
3. % Tfd
4. % ifae fogm

Question Number : 35 Question Id : 753229641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Durand Cup is associated with which sports?

Options :

1. # Cricket
2. ¥ Football
3. # Kabaddi

4. % Table-Tennis

Question Number : 35 Question Id : 753229641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e¥S &Y fbyg Qo & Taifdd 82

Options :

1. ® fobpe
2. ¢ pedid
3. % Hagl
4. % Cqa-ef g

Question Number : 36 Question Id : 753229642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many banks got nationalized in 1980 ?
Options :

1. % 4

2.%9

3.6

4. % 11

Question Number : 36 Question Id : 753229642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1980 H foba el b1 APIHRUT 31
Options :

1. % 4

2.%9

3.6

4. % 11

Question Number : 37 Question Id : 753229643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does GDP stand for?

Options :

1. # Gross Development Product

2. % Gross Domestic Price

3. % Gross Domestic Product

4. ¥ Gross Development Price

Question Number : 37 Question Id : 753229643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Site YT &1 T 37 32

Options :



1. % ghd [dHr IdTG
2. % Tl U Il

3. ¢ ghdl U IS
4. % ghd f[de™ gl

Question Number : 38 Question Id : 753229644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of Emergency in the country, who among the following can suspend the fundamental rights?
Options :

1. # Prime Minister

2. % High Court

3. % President

4. % Supreme Court

Question Number : 38 Question Id : 753229644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST H MR & A §, Fafafad § 9 o At iffieR] & feifad & godr 82
Options :

1. % QY Ht

2. % 3= Uy

3. ¢ qyufd

4. % gAHDIC

Question Number : 39 Question Id : 753229645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bahujan Samaj Party was formed in 1984 under the leadership of
Options :

1. % Syama PrasadMukherjee



2. % Kanshi Ram
3. % Sunderlal Bahuguna
4. ¥ Mulayam Singh Yadav

Question Number : 39 Question Id : 753229645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19847 A B agor QAT UTeT &1 T3+ ot 1T T
Options :

1. % YA U41G g@oit

2. ¢ I IH

3. % Yaxdrd ggun

4. % g 1¥g argd

Question Number : 40 Question Id : 753229646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the Somasila Dam is located ?
Options :

1. #* Himachal Pradesh

2. % Uttar Pradesh

3. % Andhra Pradesh

4. % Madhya Pradesh

Question Number : 40 Question Id : 753229646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARy SiY Hgl fRUd 82

Options :

1. % TROmad U™

2. % JW UK



3.« Y TS
4. % AY YT

Arithmetic Ability

Group Number : 3

Group Id : 75322936
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 75322936
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322942
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 753229647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If it is known that 27a> — 8b> + ¢3 = -18abc, then:
Options :

1. % 3b+c=2a

2. % 3a=b+c

3.% 2a=b+c

4. ¥ 3a+c=2b

Question Number : 41 Question Id : 753229647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe I8 1d & [ 2723 — 8% + ¢3 = -18abe §, T-
Options :

1. % 3b+c=2a

2. % 3a=b+c

3.% 2a=b+c

4, ¥ 3a+c=2b

Question Number : 42 Question Id : 753229648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

V324X 65 + 26 + 54 =7

Options :
1. % 89
2. % 92
3. % 98
4, % 99

Question Number : 42 Question Id : 753229648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAaferfad uy o usarae foeg (2) & QI IR T HE ST

V324X 65 + 26 + 54 =7

Options :
1. * 89
2.% 92
3. % 98
4. 99

Question Number : 43 Question Id : 753229649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

(1)2+(9)%2+18
16 :

Options :
1. % 2.0
2.925
3. % 35
4. % 40

Question Number : 43 Question Id : 753229649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad us # usaras g (2) & R IR 31 919 ST



(1)2+(9)2+18 _,
16 '

Options :
1. %20
2.¥25
3.% 35
4. % 40

Question Number : 44 Question Id : 753229650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the largest number which divides 34, 58 and 94 leaving the same remainder in each case.
Options :

1. %6

2.%9

3.¥ 12

4. % 8

Question Number : 44 Question Id : 753229650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 TSI I TSI TRSAT I PIToTY FOord 34, 58 3R 94 BT fIUIRIT B TR T AVBA U gial o
Options :

1. % 6

2.%9

3.¥ 12

4, % 8

Question Number : 45 Question Id : 753229651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A group of children has 120 chocolates with them. Eight of each of them eat 7 chocolates. Each of the remaining eats 1 chocolate less than the
average number of chocolates eaten by all of them. What could be the maximum number of children in the group?

Options :
1. % 60
2. % 30
3.9 40
4. % 24

Question Number : 45 Question Id : 753229651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol o T IHE & UM Hd 120 A HAC & | 370 I UAD 3116 H 7 didbeie @ | N H T, Tt GRT WTS T8 i &I 3iad ST ¥ 1
Aiehaic HH WA & | g H It o1 3ifdhan I fara-t 81 It 82

Options :

1. % 60

2. % 30

3.¥ 40

4.% 24

Question Number : 46 Question Id : 753229652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q are two numbers such that if P increased by 20 percent and Q decreased by 40 percent, their sum remains constant. By what percent P is
greater than Q?

Options :

1. # 200 percent
2. % 50 percent
3. #® 75 percent
4. % 100 percent

Question Number : 46 Question Id : 753229652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

P 3R Q T WY 39 UHR ¢ fb afg p 7 20 ufawrd &t 3fg 8t g 3R Q & 40 ufawra ot it St 8, A SFHT AT THH S 81 P, Q
fam ufaera sifdes 82

Options :

1. % 200 gfa=rd
2. % 50 gfard
3. % 75 gfa=id
4. ¥ 100 Yfa=rd

Question Number : 47 Question Id : 753229653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the price of rice per kg 1s decreased by 15 percent , one can buy 1 kg more for Rs.85. How much quantity of rice can one buy with Rs.120 with
the initial price ?

Options :
1. ¥ 8 kg
2. % 10kg
3. % 75kg
4. % 55kg

Question Number : 47 Question Id : 753229653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Trad ot HIAd Ufd freiumd 15 Ufawrd &4 81 Siidl 8, df is fad 85 S H 1 fraum Trad sifdie WRie Tohdl ¢ ITI1ad &1 YRS
P & AR e 120 ¥9Y T TG B fbd-1 AET WRiG Jhdl 82
Options :

1. ¢ g fhaum

2. % 10 fhamm
3. % 7.5 fparmd
4. % 5.5 fHammd




Question Number : 48 Question Id : 753229654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man sold an article for Rs. 840 at a profit of 20 percent. If the ratio of the marked price to the cost price of the article is 10 : 7, respectively,
then find the discount percentage offered by the man.

Options :

1. # 20 percent
2. % 18 percent
3. % 12 percent
4. % 16 percent

Question Number : 48 Question Id : 753229654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Afad 840 IUY T Th I ! SIBR 20 U=rd o7 a1y 3ifSfd a1 |1 e avg & 3ifrd Hed 3R o0 T 7 S0Td HHS: 10: 78 a
fed gRT & T e ufawrd 1d S|

Options :

1. % 20 gfard
2. % 18 Ufard
3. % 12 yfaerd
4. ¢ 16 Ufa=rd

Question Number : 49 Question Id : 753229655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A loss equivalent to selling price of 6 oranges is suffered by selling 144 oranges. Calculate the loss percentage.
Options :

1. #* 2 percent

2. % 3 percent

3. ¥ 4 percent

4. % 5 percent



Question Number : 49 Question Id : 753229655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

144 IR ST W, 6 TR & faeh! Jeg & SRR g1 it ¢ | g1 Ufa=rd &1 10T Siford |
Options :

1. # 2 yfaerd

2. % 3 yfdwd

3. ¥ 4 Ufd=d

4. % 5YfqRd

Question Number : 50 Question Id : 753229656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of male workers to the female worker in factory A is 3 : 4 and that in factory B is 5 : 4. The percentage of the females who got
increment in factory A is 70 percent and that in factory B is 85 percent. If 12 females in factory A did not get the increment and 68 females in
factory B get the increment, then what can be the ratio of total workers in factory A to total workers in factory B?

Options :
lI.%5:9
2.% 1:2
3. 7:19
4.4 7:18

Question Number : 50 Question Id : 753229656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

hacl A T UV 4! o1 Afga Yfid! ¥ SJaTd 3 : 4 8 iR ac! B H 5:4 81 Hhac! A T 9 gfg U= arett Afgansil &1 Ufa=id 70 Ufa=id 8
3R W) B W 85 U 21 AR Trare) A W 12 AfReal 1 adH gl el el 3IR thare) B H 68 ARenal @1 o gie fireh, Ot thaedt A
Hd Y0P BT Waedt B W Hot 4HH! I SUTd a1 &) Tehdl 82

Options :

1.%5:9

2. % 1:2

3.%7:19



4.4 7:18

Question Number : 51 Question Id : 753229657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

650 grams of sugar solution has 55 percent sugar in it. How much sugar should be added to this mixture so that sugar becomes 75 percent of total
mixture?

Options :

1. # 360 grams
2. % 600 grams
3. % 540 grams
4. ¥ 520 grams

Question Number : 51 Question Id : 753229657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

650 TTH A1 & O & 55 Ufa=rd =it & | fHrsor & fopait =1 firems St =nfee foras fo i+t &6t A oa firsror &1 75 gf=id gt sy
Options :

1. # 360 UTH

2. % 600 UTH

3. % 540 UTH

4. % 5209H

Question Number : 52 Question Id : 753229658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the compound interest on Rs.10,000 in a year at 6 percent per annum if it is compounded half-yearly?
Options :

1. % Rs.1236

2. % Rs.609

3. # Rs.600

4. % Rs.703



Question Number : 52 Question Id : 753229658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10,000 ¥ BT 6 YTI=Id DI A & 4 3{ef-a1NP BT UM IR Ahqfeg SATS T G2
Options :

1. % 1236300

2. ¥ 609 T

3. % 600 30

4. % 703399

Question Number : 53 Question Id : 753229659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Walking at three-fourth of his usual speed, a man covers a certain distance in two hours more than the time he takes to cover the distance at his
usual speed. The time taken by him to cover the distance with his usual speed is:

Options :

1. ® 4.5 hours
2. % 5.5 hours
3. % 6 hours

4. % 5 hours

Question Number : 53 Question Id : 753229659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SMTGHT 3T IRATAD 7T o HH-TITS T o Iid §U U H13d Gl B ad H= H 30T IRATdd TTfd I el gU 39 g3l &1 ad = J
forT 71T Tg B Q) 6 Hf% T H [T HA1 & | YD gRT 30T IRAfdd Tfa o g &Y a8 B B fora 11 0 g

Options :
1. % 454c
2. % 556c
3. ¢ 6HC
4. % 5YC




Question Number : 54 Question Id : 753229660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain distance is covered in a certain time. If 60 percent more distance is covered in 35 percent less time, then find the ratio of the speed in
the two cases.

Options :

1. % 12:17
2. % 15:22
3.% 35:16
4,9 13:32

Question Number : 54 Question Id : 753229660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreht fAif3a g8 ! forht FAifra o o q fpan ST 8 1 3 60 wifara sifties gt &1 35 Ufasid & v o 99 fasan man g1, df e fRufa o
T BT 3UTd F1d BIfoT|

Options :

1. % 12:17

2. % 15:22

3. % 35:16

4.9 13:32

Question Number : 55 Question Id : 753229661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B together can complete a work in 8 days while B and C together can complete it in 12 days. A worked for 4 days, B worked for 6 days
and then C finishes the remaining work in 11 days. In what time C alone can complete the work?

Options :

1. # 11 days
2. % 17 days
3. % 27 days



4. % 18 days

Question Number : 55 Question Id : 753229661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B UH 1Y 8 &7 & BT &l [T R Tohdl & o6 B AR C TS WY FRI &1 12 RA A G aR Thad & 1 A 7 4 f&A1 & forg & fovan, B
7 6 &1 & fo & foram oiR c AT HR DT 1 G H R a1 g1 31dbal € foban el § &1 &1 R R vl 62

Options :

1% 11fE

2. % 17faq

3.¢ 27T

4. % 18faq

Question Number : 56 Question Id : 753229662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fifty six men can complete a piece of work in 24 days. In how many days can 42 men complete the same piece of work?
Options :

1. # 18 days

2. ¥ 32 days

3. % 98 days

4. % 48 days

Question Number : 56 Question Id : 753229662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

56 T2 24 feif T Uep BTH ) [ R Tehdl & | I BT Bl 42 T foba fot & 1 = Wbl B2
Options :

1. % 18 feA

2. ¢ 3218

3. % ogfad



4. % 48faq

Question Number : 57 Question Id : 753229663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the area of a rhombus (in sq cm) whose side is 24 cm and one diagonal is 44 cm?
Options :

| % 45V23

5 % 9023

—
3 o 88v23

4% 80723

Question Number : 57 Question Id : 753229663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T GRS et Yol 24 4t § 3R U fapf 44 A R 61 &wpet (a7l et 7 71 IR 2

Options :
o
| x 4523

- 9023



L% 80723

Question Number : 58 Question Id : 753229664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A lady makes tea for his family members and herself in a cylindrical vessel of radius 10.5 cm and height 10 cm. The volume of tea is 40 percent
of the vessel's volume. If each one of the members of the family drinks 49 cm? tea, then find the total number of members in the family.

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.7

2.8

3.6

4.9

Question Number : 58 Question Id : 753229664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS ARRET 10.5 I Bam 3R 10 I 18 9T STHR Fa- H 309 GRIR & Jew! 3R W4 & T =g 9416t 8 | 91 &1 31ad §a- &
ST BT 40 TR ¢ | IS TRAR &1 TS Jawg 49 T I HiaT 8, O GRAOR & Iexl &1 G AT J1d Dol |

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.7

2.8

3.6

4.9




Question Number : 59 Question Id : 753229665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given table shows the average speed (in km/hr) of two cars. For example, the average speed of car P and car Q is 50 km/hr.

Car P Q R S T
P = 50 525 425 475
Q 50 - 625 525 575
R 525 625 = 55 60
S 125 525 55 - 50
T 475 575 60 50 =

What is the speed of car T?
Options :

1. # 50 km/hr

2. % 45 km/hr

3. % 65 km/hr

4. % 55 km/hr

Question Number : 59 Question Id : 753229665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g arfereT < HRI @1 3 i (fhi/der T gxifd § | IST801 & o, HR P 3R HR Q B 3id 71 50 fpHi/eier g

— P Q R S T
D = 50 525 125 475
Q 50 — 625 525 575
R 525 62.5 = 35 60
S 125 525 35 — 30
T 175 575 60 50 =
PR T DI i T 82

Options :



1. % 50 fopri/der
2. % 45 fpdider
3. % 65 fopHl/Eer
4. ¢ 55 fpHider

Question Number : 60 Question Id : 753229666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows the population of six countries (in millions) in 2010 and 2020.

160 152

India usA Shri lanka China Japan England

m2010 =2020

What is the range of percentage increase in population in all countries from 2010 to 2020?
Options :

1. ¥ 16.92 percent - 27.5 percent

2. % 16.66 percent — 27 percent

3. ® 15 percent - 26.5 percent

4. % 18.33 percent — 30 percent



Question Number : 60 Question Id : 753229666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad IR I 2010 iR 2020 & T N BT SIS (@RAT H) BT STaT ¢ |

160 152

140

120

100

5 & 8 B

=]

®2010 ®2020

2010 ¥ 2020 T it = H SiRea # ufa=rd gfs &1 da Far g2
Options :

1. ¥ 16.92 Ufd=Id - 27.5 Ufd=id

2. % 16.66 Ufa=rd — 27 ufa=rd

3. % 15 e - 26.5 Ufa=d

4. % 18.33 gfa=rd — 30 Ufa=rd
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Question Number : 61 Question Id : 753229667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The World Health Organisation's experts says that immunising children against the coronavirus “is not a high priority” given the extremely
limited global supply of vaccines.

Options :
1. ¥ The World Health Organisation's experts says that immunising

2. # children against the coronavirus “is not a high priority”



3. % given the extremely limited global supply of vaccines.

4. % No error.

Question Number : 61 Question Id : 753229667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The World Health Organisation's experts says that immunising children against the coronavirus “is not a high priority” given the extremely
limited global supply of vaccines.

Options :

1. ¥ The World Health Organisation's experts says that immunising
2. % children against the coronavirus “is not a high priority”

3. # given the extremely limited global supply of vaccines.

4. % No error.

Question Number : 62 Question Id : 753229668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

My father identified the person who has won a beautiful car in the lottery yesterday.
Options :

1. % My father identified the person

2. % who has won a beautiful car

3. % in the lottery yesterday.

4. % No error.

Question Number : 62 Question Id : 753229668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.



My father identified the person who has won a beautiful car in the lottery yesterday.
Options :

1. ¥ My father identified the person

2. % who has won a beautiful car

3. # in the lottery yesterday.

4. % No error.

Question Number : 63 Question Id : 753229669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

Our meals usually have at least one item make of some kinds of grain.
Options :

1. ¥ made of some kind

2. # making of any kinds

3. * makes of kind

4. # No substitution required

Question Number : 63 Question Id : 753229669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

Our meals usually have at least one item make of some kinds of grain.
Options :

1. ¥ made of some kind

2. % making of any kinds

3. % makes of kind

4. % No substitution required



Question Number : 64 Question Id : 753229670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

(As I did not think it was proper to) acquaint her yet with what had happened, I made an excuse.
Options :

1. # As1did not think it being proper to

2. % As1did not think properly to

3. % As1did not properly think to

4. ¥ No Improvement.

Question Number : 64 Question Id : 753229670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

(As I did not think it was proper to) acquaint her yet with what had happened, I made an excuse.
Options :

1. ¥ As I did not think it being proper to

2. % As I did not think properly to

3. ¥ As 1 did not properly think to

4. ¥ No Improvement.

Question Number : 65 Question Id : 753229671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Rumours spread that he soon order the army to open fire.
Options :
1. ¥ will



2. % will be
3. #* would be

4. % would have

Question Number : 65 Question Id : 753229671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Rumours spread that he soon order the army to open fire.

Options :

1. ¥ will

2. % will be
3. % would be

4. % would have

Question Number : 66 Question Id : 753229672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Dharmendra is going the knife next month to try to his knee problems.
Options :

1. #* above, solve

2. # under, solving

3. % above, solved

4. ¥ under, solve

Question Number : 66 Question Id : 753229672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.



Dharmendra is going the knife next month to try to his knee problems.
Options :

1. #* above, solve

2. # under, solving

3. % above, solved

4. ¥ under, solve

Question Number : 67 Question Id : 753229673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

“It is clear that each of these draft is part of a larger plan that against the ethos and interests of the islands and islanders.
Options :

1. # regulation, are

2. ¥ regulations, is

3. % regulations, are

4. # regulation, is

Question Number : 67 Question Id : 753229673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

“It is clear that each of these draft is part of a larger plan that against the ethos and interests of the islands and islanders.

Options :

1. # regulation, are

2. ¥ regulations, is

3. % regulations, are

4. # regulation, is

Question Number : 68 Question Id : 753229674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Although fruits can no longer grow once picked,
P. taking in oxygen and

Q. they continue to respire for some time,

R. giving off carbon dioxide,

S. just as human beings do

S6. when they breathe.

Options :

1. ¥ QPRS
2. % SQPR
3. % RPQS
4. % PRSQ

Question Number : 68 Question Id : 753229674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Although fruits can no longer grow once picked,
P. taking in oxygen and

Q. they continue to respire for some time,

R. giving off carbon dioxide,

S. just as human beings do

S6. when they breathe.

Options :

1. ¥ QPRS
2. % SQPR
3. # RPQS
4. % PRSQ

Question Number : 69 Question Id : 753229675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Benevolent
Options :

1. # Cruel

2. % Barbaric
3. % Gracious

4. ¥ Savage

Question Number : 69 Question Id : 753229675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Benevolent
Options :

1. # Cruel

2. # Barbaric
3. % Gracious
4. # Savage

Question Number : 70 Question Id : 753229676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Squander
Options :

1. # Confine
2. # Persecute
3. # Posit



4. % Save

Question Number : 70 Question Id : 753229676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Squander
Options :

1. # Confine
2. # Persecute
3. # Posit

4. ¥ Save

Question Number : 71 Question Id : 753229677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Canine

2. % Compile

3. % Bolster

4. ¥ Coureir

Question Number : 71 Question Id : 753229677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Canine

2. % Compile

3. % Bolster



4. % Coureir

Question Number : 72 Question Id : 753229678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. # Tropikal

2. ¥ Tropical

3. % Trapical

4. # Tropicol

Question Number : 72 Question Id : 753229678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. % Tropikal

2. % Tropical

3. # Trapical

4. % Tropicol

Question Number : 73 Question Id : 753229679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

Play it by ear.

Options :

1. % To focus on one thing.

2. # Last try before giving up.
3. % Act without preparation.



4. # A fleeting moment.

Question Number : 73 Question Id : 753229679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

Play it by ear.

Options :

1. #* To focus on one thing.

2. # Last try before giving up.
3. ¥ Act without preparation.

4. % A fleeting moment.

Question Number : 74 Question Id : 753229680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

Get the axe.

Options :

1. ¥ Lose the job.

2. % Examining a group of people and deciding their suitability.
3. # Proving the effectiveness of something.

4. # Examining something carefully to not miss out any details.

Question Number : 74 Question Id : 753229680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

Get the axe.
Options :



1. ¥ Lose the job.
2. % Examining a group of people and deciding their suitability.
3. % Proving the effectiveness of something.

4. ¥ Examining something carefully to not miss out any details.

Question Number : 75 Question Id : 753229681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of the words given.

One who wants to destroy the government.
Options :

1. # Vandals

2. ¥ Anarchist

3. # Criminal

4. % Amphibian

Question Number : 75 Question Id : 753229681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of the words given.

One who wants to destroy the government.
Options :

1. # Vandals

2. ¥ Anarchist

3. # Criminal

4. % Amphibian
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No
Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Arthur Wellesley, 1st Duke of Wellington, KG, GCB, GCH, PC, FRS, was an Anglo-Irish soldier and a Tory statesman who was one of the
leading military and political figures of 19th-century Britain, serving twice as the prime minister. He ended the Napoleonic Wars when he
defeated Napoleon at the Battle of Waterloo in 1815.

Wellesley was born in Dublin into the Protestant Ascendancy in Ireland. He was commissioned as an ensign in the British Army in 1787, serving
in Ireland as aide-de-camp to two successive lords lieutenant of Ireland. He was also elected as a Member of Parliament in the Irish House of
Commons. He was a colonel by 1796 and saw action in the Netherlands and in India, where he fought in the Fourth Anglo-Mysore War at the
Battle of Seringapatam. He was appointed governor of Seringapatam and Mysore in 1799 and, as a newly appointed major-general, won a
decisive victory over the Maratha Confederacy at the Battle of Assaye in 1803.

Wellesley rose to prominence as a general during the Peninsular campaign of the Napoleonic Wars and was promoted to the rank of field marshal
after leading the allied forces to victory against the French Empire at the Battle of Vitoria in 1813. Following Napoleon's exile in 1814, he served
as the ambassador to France and was granted a dukedom. During the Hundred Days in 1815, he commanded the allied army, which, together with
a Prussian Army under Bliicher, defeated Napoleon at Waterloo. Wellington's battle record is exemplary; he ultimately participated in some 60
battles during his military career.

Wellington is famous for his adaptive defensive style of warfare, resulting in several victories against numerically superior forces while
minimising his losses. He is regarded as one of the greatest defensive commanders of all time, and many of his tactics and battle plans are still
studied in military academies around the world. After the end of his active military career, he returned to politics. He was twice British prime
minister as a member of the Tory party from 1828 to 1830 and for a little less than a month in 1834.

Sub questions

Question Number : 76 Question Id : 753229683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a newly appointed Major-General, Arthur Wellesley won a decisive victory at
Options :

1. ® Many places in England.

2. ¥ Battle of Assaye.

3. * Battle of Waterloo.

4. * Battle of Seringapatam.

Question Number : 77 Question Id : 753229684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arthur Wellesley ended the Napoleonic Wars when he defeated Napoleon. Where was Napoleon defeated?



Options :

1. ¥ Wellington
2. ¥ Dublin

3. ¥ Waterloo
4. ® Tory

Question Number : 78 Question Id : 753229685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not correct?

Options :

1. ¥ Wellington is famous for his adaptive defensive style of warfare.

2. # Wellesley rose to prominence as a general during the Peninsular campaign of the Napoleonic Wars.
3. # Following Napoleon's exile, Wellesley served as the ambassador to France.

4. ¥ Wellesley had never been a colonel.

Question Number : 79 Question Id : 753229686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘exemplary’ mean in the given passage?
Options :

1. ¥ Commendable

2. #® Dishonorable

3. % Disparaging

4. # Lacking

Question Number : 80 Question Id : 753229687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After the end of his active military career, Arthur Wellesley went into
Options :

1. # Adaptive defensive style of warfare

2. ¥ Politics



3. # Poetry

4. # Training of young soldiers

Question Id : 753229682 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Arthur Wellesley, 1st Duke of Wellington, KG, GCB, GCH, PC, FRS, was an Anglo-Irish soldier and a Tory statesman who was one of the
leading military and political figures of 19th-century Britain, serving twice as the prime minister. He ended the Napoleonic Wars when he
defeated Napoleon at the Battle of Waterloo in 1815.

Wellesley was born in Dublin into the Protestant Ascendancy in Ireland. He was commissioned as an ensign in the British Army in 1787, serving
in Ireland as aide-de-camp to two successive lords lieutenant of Ireland. He was also elected as a Member of Parliament in the Irish House of
Commons. He was a colonel by 1796 and saw action in the Netherlands and in India, where he fought in the Fourth Anglo-Mysore War at the
Battle of Seringapatam. He was appointed governor of Seringapatam and Mysore in 1799 and, as a newly appointed major-general, won a
decisive victory over the Maratha Confederacy at the Battle of Assaye in 1803.

Wellesley rose to prominence as a general during the Peninsular campaign of the Napoleonic Wars and was promoted to the rank of field marshal
after leading the allied forces to victory against the French Empire at the Battle of Vitoria in 1813. Following Napoleon's exile in 1814, he served
as the ambassador to France and was granted a dukedom. During the Hundred Days in 1815, he commanded the allied army, which, together with
a Prussian Army under Bliicher, defeated Napoleon at Waterloo. Wellington's battle record is exemplary; he ultimately participated in some 60
battles during his military career.

Wellington is famous for his adaptive defensive style of warfare, resulting in several victories against numerically superior forces while
minimising his losses. He is regarded as one of the greatest defensive commanders of all time, and many of his tactics and battle plans are still
studied in military academies around the world. After the end of his active military career, he returned to politics. He was twice British prime
minister as a member of the Tory party from 1828 to 1830 and for a little less than a month in 1834.

Sub questions

Question Number : 76 Question Id : 753229683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a newly appointed Major-General, Arthur Wellesley won a decisive victory at
Options :

1. % Many places in England.

2. ¥ Battle of Assaye.

3. # Battle of Waterloo.

4. # Battle of Seringapatam.



Question Number : 77 Question Id : 753229684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arthur Wellesley ended the Napoleonic Wars when he defeated Napoleon. Where was Napoleon defeated?
Options :

1. # Wellington

2. * Dublin

3. ¥ Waterloo

4. ® Tory

Question Number : 78 Question Id : 753229685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not correct?

Options :

1. # Wellington is famous for his adaptive defensive style of warfare.

2. # Wellesley rose to prominence as a general during the Peninsular campaign of the Napoleonic Wars.
3. % Following Napoleon's exile, Wellesley served as the ambassador to France.

4. ¥ Wellesley had never been a colonel.

Question Number : 79 Question Id : 753229686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘exemplary’ mean in the given passage?
Options :

1. ¥ Commendable

2. # Dishonorable

3. % Disparaging

4. # Lacking

Question Number : 80 Question Id : 753229687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

After the end of his active military career, Arthur Wellesley went into
Options :

1. # Adaptive defensive style of warfare

2. ¥ Politics

3. # Poetry

4. # Training of young soldiers
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Question Number : 81 Question Id : 753229688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFffEd & @ $IH-u1 Toa fagef 9ty &1 Jareu g2
Options :

1. % gR=se

2. % 3Hd

3. % Hdreal

4. ¥ GARA

Question Number : 81 Question Id : 753229688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrefafed & @ oH-u1 vee fawf 9 &1 3ameru 32
Options :

1. % gRwsa

2. % 3Hd

3. % Bl

4. ¢ GRARA

Question Number : 82 Question Id : 753229689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feTfeTRad & U T e &1 TG DI
Options :

1. * dH

2. ¢ el

3. % foaRT

4. % T




Question Number : 82 Question Id : 753229689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed ¥ ¥ dH g &1 9949 BIfoTe-
Options :

1. = dH

2. ¢ el

3. % foaRT

4. % T

Question Number : 83 Question Id : 753229690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfIRad # O 19-97 Xec; T o1 YT B 11 77 82
Options :

1. ¢ R=deRt

2. % RS

3. % R

4. % 3Ugd

Question Number : 83 Question Id : 753229690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAAfafed & @ S19-97 Weg Uy &7 YN 6 ST 471 82
Options :

1. v R=aerd

2. % RS

3. % IRAR

4. % 3JUgd



Question Number : 84 Question Id : 753229691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEAIRId o ¥ -1 /e UTaaTad ST 1 3&TeRUl 67
Options :

1. % qd

2. %

3. ¢ SdHl

4. % g

Question Number : 84 Question Id : 753229691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfeRad 7 @ o19-91 Xee, HigarIs T3 BT 3GTeR0T 82
Options :

1. % ad

2. % QX

3. ¢ SdHl

4. % G

Question Number : 85 Question Id : 753229692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfIRed & 9 "S=egy &1 Jafaard! Jeg & -1 82
Options :

1. % dRAX

2. % HARY

3. % o

4. % YU

Question Number : 85 Question Id : 753229692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AT & @ rggequ &1 Yuiaar) e &1H-91 82
Options :

1. % IR}

2. % HARY

3. %

4.« YA

Question Number : 86 Question Id : 753229693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i & ¥ 3rglg a1 aTd Xsg T 98- BIfoTE-
Options :

1. % grHdH

2. ¥ Gooldferd

3. % Hgal

4. % HIJHH

Question Number : 86 Question Id : 753229693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fmforRad & ¥ 3R acii! a1l X[6G &1 T4 BHIToTE-
Options :

1. % YrEaH

2. ¢ Yooraterd

3. % Sl

4. % HIGYW

Question Number : 87 Question Id : 753229694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fEfIRad 7 T " 3REHRUM BT fIdH Weg -1 82
Options :

1. % 3FMNUT

2. % 3R

3. ¢ AT

4. % YRR

Question Number : 87 Question Id : 753229694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefafed o @ st &1 fodiy Teg H1H-91 82
Options :

1. % 3FMUT

2. % AR

3. ¢ R

4, % YRR

Question Number : 88 Question Id : 753229695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T aTeRIT=T & foTT Ueh Xsg b1 T HITOL-

(-3 STl bl b | Silgl
Options :

1. % TlaR

2. ¥ TRAYT

3. % Wfed

4. % R[ad

Question Number : 88 Question Id : 753229695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fQU 7T 9T & FoTE U e HT 99 PIfoTu-

3{TT-3{EHT STl bl b H gl
Options :

]. % TdlaR

2.  HRAYUT

3. % Widd

4. % Xad

Question Number : 89 Question Id : 753229696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafRad 7 9 foar mar 9 f5a &1d &1 e g?

AT d 1 A0 BT =e TgT AT
Options :

1. % 3= YdPb1a

2. % Bg-8gHG HdPTd

3. % gd-8qHg HlaHH@

4. ¢ Ul YdpTd

Question Number : 89 Question Id : 753229696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafea o T fear m a1 e &1d B1 3SR 82

areHgd 1 Faior Bl I 8T Ul
Options :

1. % 3 YadbTa

2. % gd-oqHg YdbId




3. % gd-8qHg HlaHHA
4. ¢ Ul YdpbTd

Question Number : 90 Question Id : 753229697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu v 919w # forg R &1 faufaa o1 wanT fear mar g2
e R Rig der 3 sre-difEdl & e st dearu)

Options :

1. ¢ JEIGH HRDb
2. % JHUIQIH HRP
3. % HH DRD

4, & PIDH HRD

Question Number : 90 Question Id : 753229697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

412 feu 7T a1 © forg R Pt fauia o1 v fosar man g2
TR FRraRTt Rig e 3 T1g-tifsdl & o 3 deam|

Options :

1. ¢ JEIGH hRP
2. # UG HdRP
3. % U BRD

4, % P HRD

Question Number : 91 Question Id : 753229698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & @ 1991 are ad=it ) = J g T8 ®2

Options :



1. % 394 gaR ggi 9 o

2. % g AT HIS © U8 AR 1Y @l 8 |
3. ¥ HETHRA 3gRE i db <Icidl el
4. % IS AT H TR &1 HH FIe @5

Question Number : 91 Question Id : 753229698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frffad & | 1991 are ad- 1 2P 3 g T8 R2
Options :

1. % 39 g1 gl g fua|

2. % UG RIS § US TR Y BAT 5|

3. ¥ HEIHURd 3gRE fa& T oIaidl IET|

4. % 3ol Ia Y T &1 HH FIe WR

Question Number : 92 Question Id : 753229699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad o 9 9= & UHR &1 994 BIfoTe-
AEE St 7 U - o ot T g@-Jfaum am |

Options :

1. ¢ Hqard
2. ® Y[ddrg
3. % HHAT™
4. % feparareq

Question Number : 92 Question Id : 753229699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfeRad A T 9/ & B R BT II Hifole-




A8 Sff A 37U TR & oy Jod go-Jfaum AT |

Options :

1. ¢ Hqard
2. ® Y[ddrg
3. % HHAT™
4. % feparareq

Question Number : 93 Question Id : 753229700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=faRad & T gerarT "Pie § [Tl g1 &1 o1 31 g2
Options :

1. % JADH TG~ U T

2. ¥ U g IR G-I - g

3. % P A g

4. % foat off 97 IR fa=arg R o

Question Number : 93 Question Id : 753229700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fefad § O qerart "Pie § [Tt g o1 o 31 g2
Options :

1. % IIYH T~ UTed g

2. ¢ U G R G G- g

3. % 3eH fTHGH! I

4. % fodt ot 91 UR fa=ar R oA

Question Number : 94 Question Id : 753229701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f=foRaa o @ Aeifad "< glel & 8N a8 UTelt § ST &1 T 31 g2
Options :

1. % BIc AN BT S¢-JdedR Tl

2. % JRTEN WeT Rifhd WA R |

3. ¢ AT H E 98 Ubc BRI &1

4. % S S YT € 98! QORI o B P A ThdT 5 |

Question Number : 94 Question Id : 753229701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfiRad & 9 diepifad it giet | BT a8 UTel § ST o1 o 37 g2
Options :

1. % BIC AN BT I&-AGHR Sle |

2. % SORTER HaT Rifhd @ B |

3. BT § 98 Udhe g ol

4. % S S YT € 981 QORI o B P A Thdl 5 |

Question Number : 95 Question Id : 753229702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I I Uhich] H (Hex & fore e & ¥ -3 fag o1 v forar S g2

Options :

1. % 3eufaR™ g
2. % guffer™ freg
3. % iR g
4. ¥ PISD forg

Question Number : 95 Question Id : 753229702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



"I I Uhich] H (e & fore A & ¥ -3 fars o1 v forar S g2

Options :
1. % 3feUiav™ g

2. % goffRm g

3. % JGfRM g

4. ¥ DIGD g

Sub-Section Number : 2
Sub-Section Id : 75322946
Question Shuffling Allowed : Yes

Question Id : 753229703 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

f=fefad T &1 eayd e srergT e Ul & I dIfvTe-

e JHTST B 3HTs & AR & 3l 1 I, o MR 3ie B Srgufd H T a1 & | e o1 372 § S WRam &1 et | 89 Siid &
TS B 3{d: 181 T 7 T § JAST | 59 TSR RI&T 3R TS & RER °i-s I8¢ ¢ | e 7 fRigror Grsii &1 90 8§ o=y Hgaygu
R § T Tg1 I HId TNIRS &d B Fdhad o | TS THS & Jeed Pl URSHd HRA o 1 1181 & Uy H1 fa aa fean 9= am
21 T8 TIGHdT 3IHT P 718 & [ SHARI AT &1 Rae 81 X1 ¢ | eI Siigd | it SfAfadbdr fei-fe St off Xa! 8 39T Jd
HRUT AT FRI&T BT YT § | 3111 g8 Wi I DI THAM Ie-9 &1 faar § g1 Hifdware! § sifaaifasmard! gid o 8 § iR I8!
HRUT g [ TAmaan gaR Al &) s/aeg Tl o Xa! ¢ | 31191 e &1 7g@ had Jxad g I A § o Jxad! 8 eadl o 61 5| I8
Qe Ufehar Fad TRAFIGRUT &1 TG 1 5 3R HFdeTRS TGRIET BT WY [GHiad gl $Ub e sfuférd g o fae geal o Rien <
ST YT TS 7 3ORTY Ugf FARaR It X87h | afe g9 Shad & Qe [T -1 31gd € af Hifde Wifd & Iry-ary smenfdies

T BT ot SR ST a1 STa=Ad ¢ | 311 faenial & ST SIRme M, FRIRT U9 aieiTe & W HRUI AFRIS U9 STeTdd
SRR PT 3THTG ¢ | 3ud faential & URY ¥ g1 Iia-FafoT 3R GRrufad & HIaHT SIR]d - & [T S8 €6 SWPRI BT (AT HIH &
fere e Rrem T oif 3o 81 Afaes e & 471 Ty TS BT HeT ST B

Sub questions

Question Number : 96 Question Id : 753229704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TRITRT BT I =N = §  D1F-91 52



Options :

1. ¢ e fRigm 3 SUATr

2. % OIS &I TeaTidred Uid |

3. % TS BT SR 1 § AT g |
4. % A B Gared sdbls: Afad |

Question Number : 97 Question Id : 753229705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad T & TR, el &7 iU & 52
Options :

1. % 3{fYeh M YTt DR ATHIRT UT BT

2. ¢ ST RaA &1 el |

3. % &had AYD ATY S|

4. % TRig o werH 4 Rugror YRrsfl o1 Ay SHfSid Bl

Question Number : 98 Question Id : 753229706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TeH & DF-91 HU- el el 62

Options :

1. % fR7efT 3R THIST T IRER Gfs T g |

2. % TS Sita- H S sffdendt fG1-3T g ST 8! § SUDT Hd HRUT i A& 6T 3HE 3|
3. % TS &M 1 He@ had e id 914 A € ol G| J gad o @l 7 |

4.« Afad Ren & o1 1 TR TS &1 HegaT GHA B

Question Number : 99 Question Id : 753229707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & TR, TS =i & e SRIe FdT, FRIRI U4 galcig & Ug@ HRUT AHRI® Td gl

Options :

1. % JfAeTRI® SR &t IRl




2. % AP SHRMEA DI TRl
3. % PHIARTRIG SR &1 3{HTd
4. ¢ TS MG BT YT |

Question Number : 100 Question Id : 753229708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, 37151 g0 W A &) THHE Ie9 o1 a1 §, 89 Hifddware! ¥ BId ST 3 & 3R T8l dRUT 8 [
ATy 8HAR AN 1 3[ag Bl o el 8

Options :

1. % garfare

2. % Uifqdamare

3. ¢ Sffayifamare!

4. % UgraTg U4 Hifdadrarg

Question Id : 753229703 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

ffefad T &1 earHgd e srergd AR Ul & I SIfTE-

o THTST B 3HTs & AR e afaa i I, o 3R 3iFie B Srgufd H T a1 & | e o1 372 § ST WRaq &1 et | 89 Siid &
TS B 3{d: 181 T 7 T § JAST | 59 TSR RI&T 3R TS &1 RER °f-s &8¢ ¢ 1 e 7 fRigror grisii &1 9o 8§ o=y Hgaygu
R § T Tg1 I HId TNIRS &d B Fdhad o | TS THS & Jeed Pl URSHd HRA o T 1181 & Uy H1 fa aa fear 9= & m
21 T8 TIGHdT 3IHT P 718 & [ THRI AT &1 Rae- 81 X1 ¢ | eI Siigd | St SfAfadbdr fei-fe St off Xa! 8 39T Jd
HRUT AT FRI&T BT U § | 3111 g8 Wi I Bl THA Ie-9 &1 faar § g1 Hifdmare! & sifaifasmard! gid o8 § iR I8!
HRUT g [ TAmaan gaR Al &1 s/aeg Tl o Xa! ¢ | 31191 e &1 Hg@ had Jxadb g I A ¢ o Jxad! 8 eadl o 81 5| I8
Qe Ufehar Fad TRAFIGRUT &1 TG 1 5 3R HFdeTRS TGRIET BT WY [GHiad gl SUb e sfuférd g o fae geal o Rien &
ST YT TS & 3ORTY Ugf FARaR gt 387 | afe g9 e & e R -1 318d € af Hifde wifd & Iry-ary smenfdres

T BT ot SITRE ST a1 STa=Ad ¢ | 31T faenial & ST SIRme T, FRIRT U9 gaieiTe & W HRUI AFRIS U9 STeTad
SRR PT 3THTG ¢ | 3ud faential & URY ¥ g1 Iia-FafoT 3R GRrufad & HIaHT SIR]d = & [T S8 €6 SWPRI BT (AT HIH &
fere e Rrem T oif 3o 81 Afaes e & 471 Ty TS BT HeT ST B

Sub questions




Question Number : 96 Question Id : 753229704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suded T o7 IfId 2 = & F SH-a1 82
Options :

1. ¢ e g 3 SUARTT

2. % OIS &1 STeATidd Tid |

3. % O Bl SRMNe Hdl § T g

4. % AN &t Jdied shls: Afad |

Question Number : 97 Question Id : 753229705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudad TR & TR, e BT g |2
Options :

1. % YD I U HR ATHIR UTed HAT

2. ¢ SHT IRIH B |

3. % Had fd® ATH HHAI

4. % fR1gm & Treqd I fRreror Jwmsf o1 ey Sifoid dxT|

Question Number : 98 Question Id : 753229706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TeH & DF-91 HU- gl ol 62

Options :

1. % TR1&T 3R TS &1 IRER U3 Aee 5|

2. % TS Sita- J S 3ffdendt fa1-&T g ST I8! § SUDT Hd HRUT i [RA&T &I 3HE 5|
3. % TS FR1ef 1 He@ had QA id 919 A € ol G| H gad o @ 8 |

4. Afa® e & o ft T 99 &1 FHou AU B

Question Number : 99 Question Id : 753229707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SUad TR & TR, ST faenial § e SrRmeg T, fARI=N U4 gaicie & Y@ RUAANS T §l
Options :

1. % JRIfIRIRIG SR &1 TRl |

2. % NANHD SRMEA DI TRl

3. % TR SRR &1 3HTd

4. 3MEATHD IR BT 3H |

Question Number : 100 Question Id : 753229708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR & TR, TS g9 Hifdes I B T 3239 o1 faa 8, 89 Hifdwarc 9 BA ST § SR T8I PR g fop
AT ey BHR AN B 3a%G BT o W61 6|

Options :

1. % ggrefdrg

2. % Aifqdamarg

3. ¢ Sffauifadarct

4. % gerfare ud Hifdewdmarg

Disciplinel
Group Number : 6
Group Id : 75322939
Group Maximum Duration : 0
Group Minimum Duration : 0
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Group Marks : 20
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Disciplinel

Section Id : 75322939
Section Number : 1
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Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322947
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 753229709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is/are true?
1. If a body changes its position with time it is said to be moving
2. Nothing is in absolute rest or in absolute motion

Options :

1. * 1 only

2. % 2 only

3. % Both 1 and 2
4. * Neither 1 nor 2

Question Number : 101 Question Id : 753229709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 o I1/A HuUT 94 8/82

1. Tfe ois fis g7g & iy 3o+ fUT sgardar § @ I faw™ ol ST g
2. % Wi U form & o fRae i A €1 @

Options :

1. % &Hdd 1



2. % Had 2
3. ¢ 1 3R 2 gl
4. % A1 AR 2

Question Number : 102 Question Id : 753229710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a particle travels a distance ‘s’ in time t; to t5, the average speed V,, is
Options :

=

1. ¢ 27k

2s
fa—t4

5

3 % 2ty

4 % S(ta—t1)

Question Number : 102 Question Id : 753229710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR P Bt Jt, GHTH ' BT & TG BT R, dl A T v, gl

Options :

=

.« fats

25
L 1




=

4 % S(ta—t1)

Question Number : 103 Question Id : 753229711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ball is thrown up at a speed of 2m/s. If g = 10m/s?, then find the maximum height the ball will reach?
Options :

1. % 0.80 m

2. % 0.40m

3.4 020 m

4. % 0.10m

Question Number : 103 Question Id : 753229711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH TS B 2m/s B A0 § FWR BT AT 81 T ¢ = 10m/s2, A TS Pt BT FHaTs F1d HIfoTE?
Options :

1. % 0.80 Hlcx

2. % 0.40 Hlex

3. 0.20 HIY

4. % (.10 HIcR

Question Number : 104 Question Id : 753229712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Projectile motion is an example of motion in a plane with acceleration.

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. Increasing

2. Decreasing

3. Zero

4. Constant

Question Number : 104 Question Id : 753229712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Tfd RN & WY FHAd H 71 T Th I&Tex 5|

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 9¢d

2. ¥cd

3.3
4. RR

Question Number : 105 Question Id : 753229713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are type/s of forces in nature?

1. Gravitational

2. Electromagnetic
3. Nuclear

4. Weak

Choose the correct one.
Options :



1. # 1 and 2 only

2. % 1,2 and 3 only
3. % 1,3 and 4 only
4.¥ 1,2, 3 and 4 only

Question Number : 105 Question Id : 753229713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 o1 ugpfa & aell & TPR 8/8?

1. TS@IHYUI
2. faqgagTar

3. GRHT]
4. HHOIR

el g-ul

Options :

1. % Had 1 3R 2

2. % PHad 1,2 3R 3
3. % Pad 1,3 3R 4
4. HAA1,2,3 3R 4

Question Number : 106 Question Id : 753229714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a projectile is fired with a speed u of an angle © with the horizontal, then what will be its speed (v) when its direction of motion makes an
angle a with the horizontal?

Options :
1.¥ v=ucos O seca
2. % v2 =y cos O sec a

3. % v=ucosasecO

4. % yv=u2cosasecO



Question Number : 106 Question Id : 753229714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe U YW &) AfaS q 10T 0 I 1A v T SR ST 8, A ST I (v) T BRI ofd ITD! Tfe Y = &ifdst & 1 BT o F1CH 82

Options :

1.¥ v=ucos O seca

2. % v2 =y cos O sec a

3. % v=ucosasecO

4. % v =12 cos 0 sec O

Question Number : 107 Question Id : 753229715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nucleus contains about percent of the mass of the atom.
Options :

1. % 92

2. %175

3. ¥ 99.98

4. % 88.9

Question Number : 107 Question Id : 753229715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e H URHT] P FoqHI BT THIHT yfa=Id gidT 5 |
Options :

1. % 92

2. %75

3. ¥ 99.98

4. % 88.9



Question Number : 108 Question Id : 753229716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct about action and reaction?
Options :

1. # Both act on the same object

2. # Both may or may not have equal magnitude

3. % Both Have same direction

4. ¥ Both act along the line joining the bodies

Question Number : 108 Question Id : 753229716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foma TR Ufaferar & SR # Ffafed 3 3 &F 91 HuF 9l 62
Options :

1. % GF T g1 9% R H1 I §

2. % 1 BT uRam 9 gt ot 9o g 9k el ot

3. % QI &1 T g faxn gl &

4. ¢ 3, ATl Y firem arel W IR S Hd &

Question Number : 109 Question Id : 753229717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man walks with a speed of 8km/hr for 2 km and 9 km/hr for 3 km. What is the average speed for 5 km?
Options :

1. ¥ 8.75 km/hr

2. % 975 km/hr

3. # 6.25 km/hr

4. % 8 km/hr

Question Number : 109 Question Id : 753229717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T 3HeHT 2 fareit & forg 8 faeil/eieT o6 1fa 9 Iate & SR 3 forlt & forw o fafl/eier ot wif @ Taan g1 5 fovet & forg i Tifer ot g2
Options :

1. ¢ 8.75 fopHil/eeT

2. % 975 fapHi/eeT

3. % 6.25 fobi/ger

4. % g fopdieet

Question Number : 110 Question Id : 753229718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following equation is also a special case of the work-energy (WE) theorem?
(where a is acceleration, u and v are the initial and final speeds and s the distance traversed.)

Options :
|« vi-ul=2as

7. % vitul=2as
3 # viul=2as

4. % viu=2as

Question Number : 110 Question Id : 753229718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁ?ﬂ%@ﬁﬁg BT THT -3l B U AR RUMT BT T fRid BT 82 (T8l a @RUT u TT v HHRT: RAE T i 1d 3R s 9% gRI
ERIRIEE-]

Options :

|« vi-ul=2as

2. % vitul=2as



3 % viul=2as

4. ® viu=2as

Question Number : 111 Question Id : 753229719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an ideal spring, the spring force Fg is proportional to x where x is the displacement of the block from the equilibrium position. The
displacement could be either positive or negative. This force law for the spring is called Hooke’s law and is mathematically stated as:
Options :

1. ® Fg=k/x
2.% Fg=k+x
3. % Fy=kx
4. ¥ F, = -kx

Question Number : 111 Question Id : 753229719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foreht sax M &, BIT-§a F, Tedb BT 301 TrmawT RUfA & faRITo x & FHIOTd B1dT 8 | T[edh &1 JHTaT § faRITa T a1
HUNESD gl T ¢ | T8I % o 90 &1 fFaw, g6 &1 o0 weard g SR Tirdeey 8 39 YR e foa1 off 9 6:

Options :

1. # Fo=k/x
2. % Fg=k+x
3. % Fy=kx
4. ¥ F, = -kx

Question Number : 112 Question Id : 753229720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
is/are called fluid/s.

1. Liquid

2. Gas

Options :

1. % 1 only

2. % 2 only

3. % Both 1 and 2

4. % Neither 1 nor 2

Question Number : 112 Question Id : 753229720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 5d ol Al 5|

1. d¥d

2. 719

Options :

1. % ad |

2. % Hhad 2

3. ¥ G 8R2

4. % A1 ARG 2

Question Number : 113 Question Id : 753229721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where does the centre of curvature of a concave mirror lie?
Options :

1. # On the mirror

2. % On the aperture of the mirror

3. # In the back of mirror

4. % In front of the mirror



Question Number : 113 Question Id : 753229721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fadd Ul &1 ashdl b Hel Ud idl 62
Options :

1. % U R

2. % U & GRS R

3. % qUU & Ul

4. ¥ YU & GIEA

Question Number : 114 Question Id : 753229722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the position of an object in front of a concave mirror so that the magnification produced by the mirror is 1?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. At the focus

2. At pole

3. Beyond centre of curvature

4. At the centre of curvature

Question Number : 114 Question Id : 753229722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 1 fRUfeY sfacet qUUN & HTHA T BNl fel GUUT b1 STae 1 gRT?
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :



1. BT IR

2. 4d W

3. Ahdl g I W
4. 9hdl HE WX

Question Number : 115 Question Id : 753229723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of concave mirror if we place the object between centre of curvature and focus of the mirror then what will be the position of the image?
Options :

1. # At the focus

2. # At the centre of curvature

3. % Between the focus and centre of curvature

4. ¥ Beyond centre of curvature

Question Number : 115 Question Id : 753229723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3faqd Ul & HTHd § af¢ 59 aXg &1 gUUI & aehdl dx IR Bidhd & 81 I9d g I Ufaias o1 R o1 grm?
Options :

1. % By R

2. % obdll g W

3. % DY 3R aehdl Hg & ad

4. ¥ IHATHE AW

Question Number : 116 Question Id : 753229724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the absolute refractive index of kerosene?
Options :

1.9 1.44



2. % 147
3. % 1.46
4. % 131

Question Number : 116 Question Id : 753229724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRAMR BT FRUe Suadies a1 82
Options :

1.¥ 1.44

2. % 147

3. % 146

4. % 131

Question Number : 117 Question Id : 753229725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to sign convention, the focal length of a convex mirror is
A. Positive
B. Negative

Options :

1. ¥ Only A

2. % Only B

3. % Either A or B
4. % Both A and B

Question Number : 117 Question Id : 753229725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg ufkurd) & SFUR ITd A B By gt gl gl
A. YdTHD

B. BUTHD



Options :

1. ¥ $Had A
2. % $Had B
3. % gQIAATB
4. % A 3R BEHI

Question Number : 118 Question Id : 753229726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not associated with a good source of energy?
Options :

1. ¥ It gives minimum amount of work per unit volume or mass.

2. % Simply accessible

3. % Easy to store and transport

4. ¥ Moderate price rate

Question Number : 118 Question Id : 753229726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o @ o1 390 3ol & Wd 9 Yefdd T8l 82
Options :

1. ¢ Ui Thich SMaH 3HYdT Ufd Tebieh GTHM AdH B B
2. % IR Y GAH g1 b

3. % YSRUT YT URag- ¥ 3 8

4. % AHA IO R

Question Number : 119 Question Id : 753229727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Up to what percentage of methane is contained by biogas?
Options :



1. # 65 percent
2. ¥ 75 percent
3. % 85 percent
4. % 95 percent

Question Number : 119 Question Id : 753229727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S B forda wfasra ao e g g
Options :

1. % 65 Gid=rd

2.+ 75 UfaRrd

3. % g5 fcrRrd

4. % 95 Yfq=rd

Question Number : 120 Question Id : 753229728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A typical cell develops a voltage of 0.5—1 V and can produce about of electricity when exposed to the Sun.
Options :

1. % 3W

2.% 5W

3. 907W

4. % 0.3 W

Question Number : 120 Question Id : 753229728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 T T O TR oot Tt IR ¥ F 0.5-1.0 V I dieedl [dbid sl @ adl TTHIT faegd IUd HR Ihd ¢ |
Options :

1. % 3W




2.%5W

3. 907W
4. % 03 W
Discipline2
Group Number : 7
Group Id : 75322940
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 75322940
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322948
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 753229729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
is one of the chemical used to produce Ocean Thermal Energy.
Options :
1. * HCI
2. % Ny
3. % Hy
4. ¥ NH;

Question Number : 121 Question Id : 753229729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR a1 Sl &1 IdTGH B & ot IuaNT fhu 1 a1a - § A U 3|
Options :
1. % HCl
2. ¥ N,
3. % H,
4. ¥ NH;

Question Number : 122 Question Id : 753229730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the relation between Volt (V) and Joule (J)?
Options :

IJ:H
1. ® 1€
2_u1J:1V_1C

, x =TI E



Question Number : 122 Question Id : 753229730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aiee (V) 3R 9@ (7) & o a1 I ]2
Options :

__ IJZH
1. ® 1C

2'3;31.12 1AF= 15
L x1V=1Tx1C

fap_t
4. i

Question Number : 123 Question Id : 753229731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the properties of the image formed by the plane mirror?
A. Virtual and inverted
B. Virtual and erect

Options :

1. # Ais true

2. ¥ Bis true

3. # A and B both are false
4. * Both are true



Question Number : 123 Question Id : 753229731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U gRT §- aTdt Wfafeta & &1 o1 g1 82
A STHTET 3R Ider
B 3THT 3R e

Options :

1. % ATEI®

2./ BIUE®

3. % A 3R BTHITAd §
4. % HI TR §

Question Number : 124 Question Id : 753229732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is true for a solenoid?

Options :

1. ® Inside a solenoid electric field is zero.

2. % A solenoid is made up of magnet.

3. ¥ A strong magnetic field is produced inside a solenoid.

4. ® A solenoid does not behave like a magnet.

Question Number : 124 Question Id : 753229732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RATRIT & Tee & I IT HY= I 82

Options :

1. % gieATierent o iR faggd 4R A gl ]

2. % GRS Th HaH I a1 8kl & |

3. ¢ ORI & iR v e g &7 397 Bl g
4. % GRATAPT TS B a8 ad1d -Tg! B 5 |




Question Number : 125 Question Id : 753229733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A galvanometer behaves like an ammeter when shunt resistance of very small value is added in
A. Parallel
B. Series

Options :

1. ¥ Only A

2. % Only B

3. % Either Aor B
4. % Both A and B

Question Number : 125 Question Id : 753229733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fged HH &1 Te TRy o TR fordlt feamier &I UHier & Tuidid farar off 9 g |
A. Ji&ddhy

B. 9uflshd

Options :

1. ¥ &hdd A

2. % HJd B

3. % AINATIB

4. % A R BTHN

Question Number : 126 Question Id : 753229734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When preparing systematic diagram of hydro power plant which of the following is not a component of it?
1. Generator
2. Turbine

Options :
1. * 1 only



2. % 2 only
3. % Both1and?2
4. # Neither 1 nor 2

Question Number : 126 Question Id : 753229734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wﬁ%mm@m%ﬁwmﬁmmﬁﬁﬁwmﬁ%
1.

2. TaEA

Options :

1. % oad |

2. % $had 2

3. % Q18R 2

4. W1 ARG 2

Question Number : 127 Question Id : 753229735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man picks up a bag of weight of 15 kg from the ground and puts it on his head 1.5 m above the ground. What is the work done by him on the
bag?

Options :

1. % 1251

2. % 1751

3. %2001

4.9 225]

Question Number : 127 Question Id : 753229735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W%naﬁw:ﬂ:r@ns P IO BT TP ST I3TAT & 3R IV STHH T 1.5 Hiex SR 3104 RR IR Rad1 g1 39 gRT ST R 7 H1H fopan
T 82



Options :
1. % 125]
2. % 1751
3. % 200
4.9 225]

Question Number : 128 Question Id : 753229736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is known as Slaked Lime?
Options :

1. ¥ Calcium hydroxide

2. # Calcium oxide

3. ® Calcium carbonate

4. % Calcium chloride

Question Number : 128 Question Id : 753229736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 & = gen =1 fHa Fer S 82
Options :

1. ¢ HIeRIOH RIS

2. % BicRH RIS

3. % BfeRIH HIEMHC

4. % DIeRTH FARZS

Question Number : 129 Question Id : 753229737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the colour of the white silver chloride when it is placed in direct sunlight?
Options :

1. % Green



2. ¥ Grey
3. ¥ Brown
4. % Black

Question Number : 129 Question Id : 753229737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e, oo FARTSS I el ¢ T T@- TR IUHT T BT 81T 82
Options :

1. % &

2.¥ 7

3. % |34

4, % DIl

Question Number : 130 Question Id : 753229738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the type of the following reaction?
CuO + H2 =Cu+ H20

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Displacement

2. Oxidation

3. Reduction

4. Redox

Question Number : 130 Question Id : 753229738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&1 Tt siffohan fed TR &t g2
CuO + H, = Cu+ H,0

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. oo
2. 3Udg-

3. U
4. 3ST

Question Number : 131 Question Id : 753229739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is the best conductor of heat?
Options :

1. ¥ Copper

2. % Gold

3. #¥ Carbon

4. ¥ Iron

Question Number : 131 Question Id : 753229739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfIREd & I DI ST T oY 35T HaTe® &2
Options :

1. ¥ DR

2. % T

3. % PHrad

4, % 3R




Question Number : 132 Question Id : 753229740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is an example of Amphoteric Oxide?
Options :

1. # Copper Oxide

2. % Zinc Oxide

3. # Sodium Oxide

4. ¥ Mercuric Oxide

Question Number : 132 Question Id : 753229740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRed 3 4 o Sy STaTgs &1 3G 87
Options :

1. % PR LS

2. ¢ f5icp 3iieTSS

3. % STy SHiags

4. % HHRS 3ffegs

Question Number : 133 Question Id : 753229741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the boiling point of CaCl,.

Options :

1. % 1708 K

2. % 1600 K

3. % 1738K

4. % 1900 K

Question Number : 133 Question Id : 753229741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
_ CaCl, BT HY® g

Options :

1. % 1708 K

2. % 1600 K

3. % 1738K

4. % 1900 K

Question Number : 134 Question Id : 753229742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not used as food preservatives?
1. Sodium Benzoate
2. Salts of sorbic acid

Options :

1. % 1 only

2. % 2 only

3. % Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 134 Question Id : 753229742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 @ fge S @ uRRes! & =g § 78! fHar siar g2
1. 9ifsgH dWiige
2. Gifdp RIS & aqur

Options :

1. % $ad |

2. % Had 2

3. % 1 3R 2 M
4.4 Tq1MRAE 2



Question Number : 135 Question Id : 753229743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is the general formula of Alkenes?
Options :

1. # Can
2. % CnHln
3 % CnHln—l

4 % CnHln—l

Question Number : 135 Question Id : 753229743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad 7 & BIH-1 Tedh1l (Alkenes) BT I T 82
Options :

% Calln

2. % CnHln
3 % CnHln—l

4 % CnHln—l



Question Number : 136 Question Id : 753229744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the colour of the flame when alkenes are burnt?
Options :

1. * White

2. ¥ Yellow

3. * Blue

4. # QGrey

Question Number : 136 Question Id : 753229744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP (Alkenes) BT ST TR SATAT BT T b BIal 67
Options :

1. % 9hg

2.« Uidl

3. % el

4.% 9

Question Number : 137 Question Id : 753229745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In vinegar, what is the percentage of acetic acid dissolved in water?
Options :

1. # 3 -5 percent

2. % 58 percent

3. % 8- 10 percent

4. % 7—9 percent

Question Number : 137 Question Id : 753229745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

R &, urit & go vhife® s &1 ufa=d fea giar g2

Options :

1. % 3 syfad
2. ¢ 5 g gfavrd
3. % g 10 Ufad
4. % 7_9yfa=id

Question Number : 138 Question Id : 753229746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What number of elements existed in nature was assumed by Newlands?
Options :

1. % 53

2. % 54

3. % 55

4. ¥ 56

Question Number : 138 Question Id : 753229746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui B faran Il &1 Sifda oG gRT Widhd T 1T T2
Options :

1. % 53

2. % 54

3. % 55

4.+ 56

Question Number : 139 Question Id : 753229747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the atomic radius of hydrogen atom?



Options :

1. ¥ 37 pm
2. % 57 pm
3. % 97 pm
4. % 102 pm

Question Number : 139 Question Id : 753229747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B3SO URHTY] 1 ¥ o1 gieit &2
Options :

1. ¥ 37 pm

2. % 57 pm

3. % 97 pm

4. % 102 pm

Question Number : 140 Question Id : 753229748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Rutherford select a gold foil for his experiment of finding the model of an atom?
Options :

1. % Asitis ductile

2. % As it is a noble metal

3. #® Asit is lustrous

4. ¥ As it is thin

Question Number : 140 Question Id : 753229748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YEIBIS & URHTY HISH WISl & 3T TN & 1w T Bt Ul o1 7o 3t faramo

Options :



. % FifrIgdas

2. % Hifch I8 Uh IPY U §

3. % i g IHBER &
4. ¢ Fife Tg ydaT g
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Question Number : 141 Question Id : 753229749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many electrons are present in the outermost shell of Silicon?
Options :

1. * 1

2.% 3

3.¥°4

4. % 2

Question Number : 141 Question Id : 753229749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferepi=l & Tad S18<! HIRT H - Saiagi HINg 8id 82
Options :

1. %1

2.% 3

3.¥°4

4. % 2

Question Number : 142 Question Id : 753229750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the number of valence electron present in Al* ion?
Options :

1. %1

2.9 2

3.%3

4. %0

Question Number : 142 Question Id : 753229750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AT 31T H oG TSIl getda - o1 ST & 82
Options :

L%

2.¥2

3. %3

4.%0

Question Number : 143 Question Id : 753229751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a property of an isobar?
Options :

1. ¥ They have same mass number

2. # They have same atomic number

3. % They have same neutron number

4. # They have same chemical property

Question Number : 143 Question Id : 753229751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR # 9 PIF-91 b HHTRS BT 01 6?2
Options :

1. ¢ 3P T T 9 gl §

2. % ST IRHTY] ShHib THM Bidl &

3. % ! g U= THH gidl §

4. % ISP UG GHMA G 0T S

Question Number : 144 Question Id : 753229752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following state consists a super energetic and super excited particle?



A. Plasma State
B. Bose-Einstein Condensate

Options :

1. ¥ Only A

2. % Only B

3. % Both A and B
4. # Neither A nor B

Question Number : 144 Question Id : 753229752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3/awT & S 3Afds SHull arat 3R 3w I Bd 82

A. WITGHT SIRT
B. d[H-HSIIgT hSIHC
Options :

1. ¥ Had A

2. % Had B

3. % A 3R BH!
4. % TAAMRAB

Question Number : 145 Question Id
Orientation : Vertical

: 753229753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
is the change of solid state directly to gaseous state without going through liquid state.

Options :

1. ¥ Sublimation
2. ® Evaporation
3. ® Deposition
4. % Boiling

Question Number : 145 Question Id

: 753229753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ ypq A3 uerd g # uRafdd gu fom g i) TRftg srawn A s g
Options :

1. % HEdUld-

2. % IRl

3. % f3gmuy

4. % HYFID

Question Number : 146 Question Id : 753229754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is dispersing medium for Emulsion?
A. Gas

B. Liquid

C. Solid

Options :

1. % Only A

2.% Only B

3. % Aand C only

4. % Band C only

Question Number : 146 Question Id : 753229754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR BT URETUT ATy T 82
AT
B.%d
C. 39

Options :
1. % Hdd A
2. Had B



3. % HAAA 3R C
4. % HIAB 3R C

Question Number : 147 Question Id : 753229755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the number of moles present in 120 g of Mg. (AMU of Mg is 24)
Options :

1. %2

2. %3

3.% 4

4.5

Question Number : 147 Question Id : 753229755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

120 I8 Mg & IR Hidil Bt TS Pt 0T BT | (Mg BT AMU 24 B)
Options :

1. %2

2.% 3

3.% 4

4. 95

Question Number : 148 Question Id : 753229756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the mass of 0.5 mole of calcium atom? (AMU of calcium is 40)
Options :

1. % 405¢

2.% 395¢

3.%2¢

4.9 20¢g



Question Number : 148 Question Id : 753229756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.5 HTd B eRITH TRHATY] T GHHH FT 82 (H1eRIAH BT AMU 40 BT 8)
Options :

1. % 40.5¢

2. %395¢

3.%2¢g

4.9 20¢g

Question Number : 149 Question Id : 753229757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the original colour of Litmus solution?
Options :

1. # Blue

2. # Pink

3. % Purple

4. % Red

Question Number : 149 Question Id : 753229757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ty faeam &1 Ha 31 31 gran 82
Options :

1. % e

2. % T[crel

3. ¢ ST

4, % Al




Question Number : 150 Question Id : 753229758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which gas is formed when metal hydrogen carbonates react with acids?
Options :

1. * H,

2. % 0Oy

3. % CO

4. ¥ CO,

Question Number : 150 Question Id : 753229758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT BISSIoH BIaT S & TTY HUFHTT B TR B I I §1 82
Options :

1. % H,

2. % 0,

3. % CO

4. CO,

Question Number : 151 Question Id : 753229759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the pH of the mouth when tooth decay starts?
Options :

1. * Lower than 6

2. % Lower than 5.5

3. * Lower than 5

4. % Lower than 4.8

Question Number : 151 Question Id : 753229759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

aId & TRY 81 R 4g BT pH A fobaT g1a 82
Options :

. % 69 PHY

2.¢55. 951

3. % 59 HH

4. % 48 DA

Question Number : 152 Question Id : 753229760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
water molecules are present in one formula unit of Washing Soda.
Options :
1. %5
2.¥10
3.% 2
4. % 6

Question Number : 152 Question Id : 753229760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qT1 & 31U] JIRAT ST 1 Th G 318 H HIGG B1d |
Options :
l.*5
2.910
3.%2
4. % 6

Question Number : 153 Question Id : 753229761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Washing soda is used in:
1. Removing permanent hardness of water
2. Glass, Soap and paper industries

Options :

1. % Only 1

2. % Only 2
3.4 Both 1 and 2
4. % Either 1 or 2

Question Number : 153 Question Id : 753229761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & TIST BT SUTNT Bl gidl 82

1. 5T B I H 3Rl Pl geH & fau
2. 1, g R BT & ST A
Options :

1. % 5dd |

2. % Had 2

3. ¢ 1 3R 2 gFf

4. % Il 1412

Question Number : 154 Question Id : 753229762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calcium sulphate hemihydrate is another name of:
Options :

1. ¥ Plaster of Paris

2. * Washing Soda

3. ¥ Baking Soda

4. % Bleaching Soda

Question Number : 154 Question Id : 753229762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SR Yethe FHIEIZSC 3BT GIRT A §:
Options :

1. ¢ WX 31t Ui

2. % YT BT TSl

3. % dfb e

4. % fOSH gul

Question Number : 155 Question Id : 753229763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Synthetic detergents are classified into how many categories?
Options :

1. %2

2.¥3

3.% 4

4, % 5

Question Number : 155 Question Id : 753229763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT TSR] B! fhd ot § dfer T 82
Options :

1. %2

2.¥3

3. % 4

4. %5

Question Number : 156 Question Id : 753229764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Single-celled organisms can produce two equal daughter-cells by -
Options :

1. # Sporulation

2. ¥ Binary fission

3. % Encystation

4. ¥ Budding

Question Number : 156 Question Id : 753229764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U d-hITRIehT aTd g &l FH Tdfd-PIRABN I B Jbhd o-
Options :

1. % SISTY] S+ o H1ead 9

2. ¢ fgEeT & A ¥

3. % géYaT & qremH 9

4. % OpHo- o wTEg g

Question Number : 157 Question Id : 753229765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The primary and secondary immune responses are carried out with the help of two special types of lymphocytes present in our blood which are:
Options :

1. % A-lymphocytes and F-lymphocytes

2. % B-lymphocytes and P-lymphocytes

3. ¥ M-lymphocytes and I-lymphocytes

4. ¥ B-lymphocytes and T-lymphocytes

Question Number : 157 Question Id : 753229765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTUTA 3R fgciae TfoRem Sforart §AR IRR & Xad H HiNlE o [o9IN UHR & auibTe gRIgR 81 T 8-




Options :

1. % T-AHIHI 3R UH- A1
2. % .-t 3R Ui ity

3. % TH B 3R 3MT3- B
4. ¢ S-THBI 3R - A

Question Number : 158 Question Id : 753229766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fungi is responsible for ringworm which is one of the most common infectious disease in humans?
Options :

1. # Aspergillus

2. % Candida

3. % Tricophyton

4. % Fusarium

Question Number : 158 Question Id : 753229766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAufeiad # @ 19 W1 Haw grg & e SR & o 9 & 9ad 31 WshTHe I 72
Options :

1. % QeOSiierd

2. ® Hrel

3. ¢ CIEHIBISeA

4. % TQOIRTH

Question Number : 159 Question Id : 753229767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nitrogen gas makes up of our atmosphere.
Options :



1. # 90-95 percent
2. % 85-90 percent
3. % 80-85 percent
4. ¥ 75-80 percent

Question Number : 159 Question Id : 753229767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS g gIR agHedd  HEd R
Options :

1. % 90-95 gfc=rd

2. % 85-90 Yfa=rd

3. % 80-85 Ufa=Id

4. ¥ 75-80 Ufc=Id

Question Number : 160 Question Id : 753229768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is present at the growing tips of stems and roots and increases the length of the stem and the root?
Options :

1. ¥ Apical meristem

2. % Vacuoles

3. % Cambium

4. # Intercalary meristem

Question Number : 160 Question Id : 753229768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o ¥ ford TRIg & STS! Td a1 1 gfs arel YT H faedM Y8 dl § a1 98 7] aaTs | gig ddl 67
Options :

1. ¢ Yy favsads




2. % YT
3. % HiggH
4. % 3fafdy fayusaidas
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Question Number : 161 Question Id : 753229769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
tissue is composed of dead cells.

Options :

1. # Collenchymatous

2. ¥ Sclerenchymatous

3. # Parenchymatous

4. % Aerenchymatous

Question Number : 161 Question Id : 753229769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_ 3d® gad HI@rel S S A g
Options :

1. % PlAbIgHCY

2. ¢ TRIBIGHCH

3. % preicy

4. % QEhIEHCY

Question Number : 162 Question Id : 753229770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organisms do not have a defined nucleus or organelles, nor do any of them show multi-cellular body designs?
Options :

1. % Protista

2. % Fungi

3. ¥ Monera

4., % Animalia

Question Number : 162 Question Id : 753229770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad # @ foo1 Sital § 9 1 Sf3d b 3R BIRISH B1d & 3R 81 37 IR IgDIR Bl &2



Options :

1. % gifcwer

2. % IS (hddh)
3. ¢ U

4. % gATAfeR

Question Number : 163 Question Id : 753229771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following animals are also bilaterally symmetrical and triploblastic, but in addition they have a true body cavity?
Options :

1. # Coelenterata

2. % Platyhelminthes

3. # Echinodermata

4. ¥ Annelida

Question Number : 163 Question Id : 753229771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 ford Sig fgursaamfid td AaiRe gid § 3R S8 ardid® ogiel 4 urs il 82
Options :

1. % Hiciexel (Coelenterata )

2. % TR (Platyhelminthes)

3. % IPHIArSH (Echinodermata )

4. ¢ TAfaST (Annelida)

Question Number : 164 Question Id : 753229772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The diameter of the pupil in a human eye is controlled by the
Options :



1. # Cornea
2. # Retina
3. Iris

4. % Optic nerve

Question Number : 164 Question Id : 753229772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T @A YA IO gRI Al fsar sman g1
Options :

1. % piam

2. % 2P Uca

3. ¢ URdTferepT

4. % TP A (P dfverdbn)

Question Number : 165 Question Id : 753229773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a young adult with normal vision, the near point is about
Options :

1. # 40 mm

2.% 25cm

3.% 35m

4. % 40 cm

Question Number : 165 Question Id : 753229773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=g 2P dTel gaT 9ok & forg, Fdbe foig amy BRI
Options :

1. % 40 &)




2.+ 25
3. % 35
4. % 40 I

Question Number : 166 Question Id : 753229774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The change in the of the eye lens can thus change its focal length.
Options :

1. ¥ Curvature

2. % Fluidity

3. ¥ Opacity

4. ¥ Musculature

Question Number : 166 Question Id : 753229774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IFETAT® A o el as v oRmY gRT SR fasar 51 9§
Options :

1. % dehdl

2. % gqdl

3. % 3{ydl

4. % HIYAdl

Question Number : 167 Question Id : 753229775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person with can see distant objects clearly but cannot see nearby objects distinctly.
Options :

1. ¥ Myopia

2. # Presbyopia



3. ¥ Hypermetropia
4. ¥ Hypopetropia

Question Number : 167 Question Id : 753229775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QI § Pl Afad g DI aXgS BI Al WF GF Yl 8, I Have IWT axgsfl HI Jey 8] ¢ ura|
Options :

1. # @ s am

2. % SRIG &ivdl

3. ¢ e

4. % grRUMeIOan

Question Number : 168 Question Id : 753229776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organisms engulfs food to form food vacuoles?
Options :

1. ¥ Amoeba

2. % Paramecium

3. # Plasmodium sporozoite

4, % Plasmodium merozoite

Question Number : 168 Question Id : 753229776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRId & I DI S HISH & HUI DI ER Td § 94T WA g T Riadep! s1d 82
Options :

1. ¢ 3Hia

2. % IRTHIRIE

3. % WOHITSTH WRNse




4. % @OHISTH RISsC

Question Number : 169 Question Id : 753229777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the terminal phosphate linkage in ATP is broken using water, the energy released is equivalent to
Options :

1. % 89 kJ/mol

2. % 1.8 kJ/mol

3. ¥ 30.5 kJ/mol

4. % 111 kJ/mol

Question Number : 169 Question Id : 753229777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BT IUANT B & d1¢ L.ELH. B 99 S HIehe Jgadd Gisd sl g df & g Soll Aifad gl gl
Options :

1. # 89 kJ/mol

2. % 1.8 kJ/mol

3. % 30.5 kJ/mol

4. % 111 kJ/mol

Question Number : 170 Question Id : 753229778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following hormones regulate carbohydrate, protein and fat metabolism in the body so as to provide the best balance for growth?
Options :

1. % Epinephrine

2. % Oxytocin

3. ¥ Endorphin

4. ¥ Thyroxin



Question Number : 170 Question Id : 753229778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ o g FralgRge, W auT 397 & IUTI= &1, gAR IRR A fg=10r ot g arfe 3fg & o Sy dgad Suasy
BT ST Jb?

Options :

1. % QAWK

2. % SRiTCIRH

3. % GSIhA

4. ¢ YTIRITRTA

Question Number : 171 Question Id : 753229779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following hormones promote cell division and are present in greater concentration in areas of rapid cell division, such as in fruits
and seeds?

Options :

1. ¥ Cytokinins

2. # Gibberellins
3. # Ascorbic Acid
4. * Insulin

Question Number : 171 Question Id : 753229779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad & @ o= g1H ST faursH o IRa wvdr 8 3R sdifert ug 37 &3 & 581 ST faursH g giar 8, favy =0 @ wal
3R sl & aifdres WigdT & T SITelT 32

Options :

1. ¢ Trscldhrs—

2. # feRferg

3. % TPl RIS

4. % gfeH



Question Number : 172 Question Id : 753229780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are key concepts of Darwinian Theory of Evolution?
1. Branching descent

2. Natural selection

Choose the correct code—

Options :

1. * Only 1

2. % Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 172 Question Id : 753229780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SifaHTaTE &1 &l G- Ahea-Td BT 62
1. ”IRST 3faRigA

2. Ui a0l fahrg

Tl D18 -
Options :

1. % $Had |

2. % Had 2

3. gl 1 3R 2

4. % Fd1 3R 2

Question Number : 173 Question Id : 753229781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following approach is based on the idea that organisms which are more distantly related will accumulate a greater number of
differences in their DNA?



Options :

1. ¥ Molecular phylogeny

2. # Isotopic phylogeny

3. ¥ Atomic phylogeny

4. # Genome sequencing phylogeny

Question Number : 173 Question Id : 753229781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofeRad o 9 foow sierem o g foar wfafed g i ey Taidh Sffal & Shua.u & 3 faftmant siftres Tken § wfera it
Options :

1. ¢ 3MUIfdes Sifdg

2. % AR Sifdge

3. % TRHATY SfTfcrge

4. % S S{IHHUT SHTfcrg

Question Number : 174 Question Id : 753229782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following primates were found 15 mya and was more man-like?
1. Dryopithecus

2. Ramapithecus

Choose the correct code—

Options :

1. % Only 1

2.+ Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 174 Question Id : 753229782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied o 9 ®F ¥ TRaR 15 ffera v gd u1e 7Y 3R 34f% AFa-99= 49
1. Srfuea
2. IHIUfRSY

Tl D18 -
Options :

1. % PHad 1

2. ¥ Had 2

3. % gl 1 3R 2

4. % Fd1 3R 2

Question Number : 175 Question Id : 753229783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following movement originated from an incident in a remote village called Reni in Garhwal, high-up in the Himalayas during the
early 1970s?

Options :

1. ¥ Narmada Bachao Andolan

2. % The Chipko Andolan

3. % The Sal Raksha Andolan

4. % The Namami Gange Andolan

Question Number : 175 Question Id : 753229783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 forg siiciad fedTerd &1 Sd! Idd S@ar 8 Teard & X AHSia § U ge1 ¥ 1970 & URINS G=1d | gafT Y12
Options :

1. % THQT STl 3figiaq

R ACLCIRIMNE

3. ® ol &l Sl

4. % UMY T 3figieaq




Question Number : 176 Question Id : 753229784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which plants were introduced into India for their lovely flowers, but later they caused havoc by their excessive growth by causing blocks in our
waterways?

Options :

1. ¥ Neochetina eichhorniae
2. # Pontederia Azurea

3. % Pistia Stratiotes

4. ¥ Eichhornia crassipes

Question Number : 176 Question Id : 753229784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA B S A N 30 Frax Bl o o8 AME T &, TR 1€ J I U Sfeen f[Thr I §HR STTHN Bl 3{a%G B HeR aRurl?
Options :

1. % fIBC SMgep i

2. % gicSRar A

3. % fofear wfesicy

4. & STEBTT BRI

Question Number : 177 Question Id : 753229785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following features of a particular gas -
1. It is a reddish-brown gas with pungent smell.
2. It indirectly causes acid-rain.

Which of the following gases is being talked about?
Options :
1. ®* SO,
2. ¥ NO,
3. ¥ CFC



4. % SO,

Question Number : 177 Question Id : 753229785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To faRy 19 o1 FRafifad faRivarsi iR faaR S -
1. T8 IRt 7Y el -4 T B g g
2. 8 W& T Y 3-gu] BT HRUT §I1 5 |

Fafifed 3 3 e TS IR A Ia B 1T B2
Options :
1. # SO,
2. ¥ NO,
3. % CFC
4. % SO;

Question Number : 178 Question Id : 753229786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. ® In coastal areas the direction of wind changes from day to night.

2. # Formation of water-vapours can be influenced by the activities of human-beings.

3. ¥ The fossil fuels like coal and petroleum contain very large amounts of nitrogen and sulphur.

4. % The combustion of fossil fuels increases the amount of suspended particles in air.

Question Number : 178 Question Id : 753229786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 91 HY= Ted 82

Options :



1. % qCrg &l O ga1 o1 &= &1 Ud ¥d o 9gd Sl 3|

2. % Sd-arsy BT fAai0r gd ot nfafafial § gyifad 8 gear g

3. ¢ PHIOAT 3R USIergH S SiiaTeH 3¢ & §gd do! AT H Ageor 3R I 8T g |
4. % Sared 349 P <8 I ga1 H (Aifad BN &1 A= 96 St g |

Question Number : 179 Question Id : 753229787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organisms can fix atmospheric nitrogen?
Options :

1. # A few viruses

2. ¥ A few bacteria

3. % A few fungi

4. % A few algae

Question Number : 179 Question Id : 753229787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # I @19 91 Sita argHSe ATgeio & fRKIHRU #R Jdhdl 82
Options :

1. % P faumy

2. ¢ $B Siar]

3. 8 PO hddh

4. % P Yard

Question Number : 180 Question Id : 753229788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For what purpose do many marine animals generally use the dissolved carbonates in sea-water?
Options :

1. # Respiration



2. # For underwater photosynthesis
3. ¥ To make their shells
4. # For digestion of food

Question Number : 180 Question Id : 753229788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s T IR JG& & -1 H gl U ST BT STINT 30 IR W 6y 35=g & forg avd 82
Options :

1. * {4

2. % Ut o i UebT=T H=AWUT & ferg

3. ¥ 3% Had 91 & forg

4. % IS o gra & forg
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Question Number : 181 Question Id : 753229789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can NOT be classified as a group of activities that can give a good yield?
Options :

1. % Crop variety improvement

2. % Crop production improvement

3. # Crop protection improvement

4. ¥ Crop efficiency improvement

Question Number : 181 Question Id : 753229789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s Tod e | GUR &1 Ufehar & ugad Tiafaiedl &f 9 U@ 3 | qier T8l off Yol 62
Options :

1. % HYd DI fbedl § UR

2. % HhyA-IdIG Yayd

3. ® U & Yy

4.« YA G&dl H GUR

Question Number : 182 Question Id : 753229790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is a macronutrient for plants?
Options :

1. ¥ Magnesium

2. % Molybdenum

3. % Copper

4. % Zinc

Question Number : 182 Question Id : 753229790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefad 7 3 &1 dlel & fore T ggd UIve &2
Options :

1. v TREH

2. % HifetesTH

3. % HIW

4. % TS

Question Number : 183 Question Id : 753229791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Xanthium and Cyperinus rotundus are examples of -
Options :

1. # Crop-damaging insects

2. # Crop-eating birds

3. ¥ Weeds

4. # Nitrogen fixing micro-organisms

Question Number : 183 Question Id : 753229791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S 3R T A2 ST TUP ISR B-

Options :



1. % TOd &I Y Ugd did dlg

2. % Hhyd WM dTd el

3. ¢ W-UddR

4. % eI fRUHR0T B3 aTl Y&H Sild

Question Number : 184 Question Id : 753229792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The levels of which vitamins are kept high in the poultry feeds?
Options :

1. # Vitamins A and B

2. # Vitamins C and D

3. % Vitamins E and K

4. ¥ Vitamins A and K

Question Number : 184 Question Id : 753229792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Oied Bis o forq faeTftm &1 R S 31 ol /2
Options :

1. % faeIf® A 3R B

2. % faeIffd C 3R D

3. % faoffF E SIRK

4. f3eIfBq A IR K

Question Number : 185 Question Id : 753229793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The credit for Green Revolution in India goes to-
Options :

1. ¥ Dr. M. S. Swaminathan



2. % Dr. Verghese Kurien
3. ® Dr. P A Sanchez
4. # Dr. R S Paroda

Question Number : 185 Question Id : 753229793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRd § gRd wifd o1 39 S 3-
Options :

1. ¥ SI. TH. T, WA Bl

2. % 3. T pRET Bl

3. % 1. Ul T gl &l

4. % I 3R TH Wi DI

Question Number : 186 Question Id : 753229794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is termed “The True Friends of the farmers’ or ‘The Natural ploughers’?
Options :

1. ¥ Earthworms

2. % Rabbits

3. % Bulls

4. % Bees

Question Number : 186 Question Id : 753229794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o 9 ford e & = o a1 "o fa® ga Fel oIl 82
Options :

1. ¥ &g

2. % TR




4. % TYARI!

Question Number : 187 Question Id : 753229795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the hens called which are reared for eggs?
Options :

1. # Broilers

2. # Eggers

3. % Layers

4. % Brailers

Question Number : 187 Question Id : 753229795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3781 & fore ureht ST arett gt & g §
Options :

1. % SIIeR

2. % TN

3. ¥ AW

4. % geR

Question Number : 188 Question Id : 753229796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is considered to be the purest form of natural water (distilled water) free from impurities?
Options :

1. ¥ Rain water

2. % Spring water

3. % Well water



4. % River water

Question Number : 188 Question Id : 753229796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied & 9 ford Srfaal § gad Wiefae STd (SR ofd) &1 JaY G =4 JHT ST 82
Options :

1. ¢ auf 51a

2. % Al BT

3. % HUDBI U

4. % 4 BT U

Question Number : 189 Question Id : 753229797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the density of water at 4°C?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. lg/m3

2.2 g/m3

3.3 g/m?

4.4 g/m3

Question Number : 189 Question Id : 753229797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
4°C TR STd &1 UTed {1 BiaT 82

Note: For this question, discrepancy is found in question/answer. So,this




question 1s 1gnored for all candidates.
Options :

l. lg/m3

2.2 g/m3

3.3 g/m3

4.4 g/rn3

Question Number : 190 Question Id : 753229798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Apis cerana indica is a type of

Options :

1. # Horse

2. # Hen

3. ¥ Bee

4. % Cow

Question Number : 190 Question Id : 753229798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U AT 3P U UBR B gl

Options :

1. % 9T

Teaching Methodology
Group Number : 11



Group Id : 75322944

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Teaching Methodology

Section Id : 75322944

Section Number : 1
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Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10
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Sub-Section Number : 1

Sub-Section Id : 75322952

Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 753229799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following teaching strategies does the student acquire the knowledge himself/herself by discovering the facts himself/herself
supported by the guidance of the teacher?

Options :

1. ®* Discussion method

2. % Demonstration method
3. % Heuristic method



4. ® Lecture method

Question Number : 191 Question Id : 753229799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad & 3 fooa Ryarr Iurifa & o Wa Rigres & anfax= grT guiid qudl #t @ie e W M U HRdl/bd! 82

Options :

1. % o fafYy (Fexpem avs)

2. % YauH Al (SHIRTH AYS)

3. ¢ wWryfas fafd (fegffes aye)
4. % R fafe (AR AYS)

Question Number : 192 Question Id : 753229800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a characteristic of learning process?
Options :

1. # Learning is individualistic.

2. # Learning is intentional.

3. ¥ Learning is non-transferable.

4. ® Learning is the outcome of the interaction of the individual with the environment

Question Number : 192 Question Id : 753229800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefead & 9 31 I siftrm o1 ufshar &1 fa=war &t g
Options :

1. % 3fferTH AfFardt ¥ |

2. % T gfaemRa g |
3. « ST AR B



4. % 3{fTH YFTaRr & Iy HfdT B STd<id T gRong g

Question Number : 193 Question Id : 753229801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following chapters of the Right to Education Act, 2009 provides for the responsibilities of schools and teachers?
Options :

1.*1I

2. % 11

3.1V

4. %V

Question Number : 193 Question Id : 753229801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRref &1 SfIBR SiffTm, 2000 & AT § T DI A1 31 Wpa SR R &t SaIRal &1 Wau™ HRdl 82
Options :

1. % 11

2. % 110

3.¥1V

4, %V

Question Number : 194 Question Id : 753229802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full-form of TLM for teachers?
Options :

1. % Teaching Learning Mechanism

2. ¥ Teaching Learning Materials

3. # Teacher Language Mechanism

4. # Training and Learning Method



Question Number : 194 Question Id : 753229802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et & forw & ua.ud. (TLM) &1 quf &0 a1 82
Options :

1. % CIfeRT Al Topfred

2. ¢ Afi A Aefaeg

3. % TIeR oo Hobi-o

4. % ST TS AT AYS

Question Number : 195 Question Id : 753229803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which out of the following statements is incorrect?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Antony Van Leeuwenhoek [1632] discovered Microorganisms

2. Robert Hook [1636] discovered Microscope

3. Henry Cavendish[1731] discovered Hydrogen

4. Joseph Priestley [ 1733] is known for his discovery of Liquid Nitrogen

Question Number : 195 Question Id : 753229803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead & 9 &9 91 By TTeld 82
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :



1. Gt o1 a8 [1632] 7 J&onal &l @iel Bt

2. JTTC G [1636] - AP IDIT &1 Wl Dl

3. 3R HafSW[1731] A BIS SIS &I WIS B

4. ST WRE [1733] RE AT &t WIS & forg M Ird &

Question Number : 196 Question Id : 753229804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the 10+2+3 pattern of education introduced in India?
Options :

1. #1972

2. % 1973

3. % 1974

4. % 1975

Question Number : 196 Question Id : 753229804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR B 16T &7 10+2+3 T {5 v = fowar mar am
Options :

1. % 1972

2. % 1973

3. % 1974

4. % 1975

Question Number : 197 Question Id : 753229805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many dimensions of science education was identified in the ‘Science Education for First Ten Years of Schooling - Guidelines for Upper
Primary and Secondary Classes’?

Options :
1. %5



2.% 6
3.7
4. % 8

Question Number : 197 Question Id : 753229805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

! RIe & TuH < au & fore fas e - 3= wrufiies SR mreafiies wemait & fore famnfacer & fagm Rien & fosan st &t
EEEICEARIERIY

Options :

1. %5

2.% 6

3.¢¥7

4. % 8

Question Number : 198 Question Id : 753229806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is of the view “There is no such thing as a philosophy-free science, there is only science whose philosophical baggage is taken on border
without examination™?

Options :

1. ¥ Daniel Dennett
2. % Richard Dawkins
3. % Sam Harris

4. % David Chalmers

Question Number : 198 Question Id : 753229806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"RIF-Tad faR SRt P <ol Tal &, had a9 § foreT i M fomT uster & S IR o ST oirdl 8", I8 fhadl faaR g2
Options :

1. ¢ SHIa gc




2. % 8 SrSfdya
3. % IRy
4. ® Sfgs gt

Question Number : 199 Question Id : 753229807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which age range is associated with later childhood?
Options :

1. ¥ 6-12 years

2. % 10-15 years

3. % 5-10 years

4. % 12-18 years

Question Number : 199 Question Id : 753229807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIF I 3T T 91 & S0 I IS 82
Options :

1. ¥ 6-12 91

2. % 10-15 911

3. % 5-10 91T

4, % 12-18 HIdl

Question Number : 200 Question Id : 753229808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the 2011 Census what is the sex-ratio in our country?
Options :

1. % 929

2. % 935



3. % 940
4. % 951

Question Number : 200 Question Id : 753229808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 T SFRTUFT & IR AR o1 H fofmurd fore g2
Options :

1. #* 929

2. % 935

3.9 940

4. % 951



